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Question Number : 1 Question Id : 8135612721 Display Question Number : Yes Is Question
Mandatory : No

Organismis which are eukaryotic. non-cellulosic cell wall. heterotrophic belongs to
Aerogs. FE'S Gard SpSIo (0, DO S Lo & T7ar(IE Bothddy?

Options:
Monera
1. % :ll)bﬂ“

Protista

Mycota

3 ¥ %Eogw

Plantae

y mJEEjED
4. %

Question Number : 2 Question Id : 8135612722 Display Question Number : Yes Is Question
Mandatory : No
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Match the following tungi scienfific names with their alternate names?

Column-I Column-II
(a) Ustilago (1) Bracket
(b) Puccinia (i) Puff ball
(c) Polyepores (111) Mushroom
(d) Lycoperdon (iv) Somut

(v} Rust

B 28,8y %bogu ?f‘goﬁa TArVR, T 0WE), Fron Tarus a8 Sobed?

5608 - I 5650 — 11
(a) u‘.in?ge.:“h‘ (i) era8
(b) 9Sydodr (i) DOwS
©) F0X6d (ifi) Lo
(d) g8dTR (iv) sewe

(V) S8

Options:
1w (a—iv),(b—v),(c—i),(d—ii)

, x (a—v),(b—i),(e—ii),(d—iii)
3« (a—1),(b—ii),(c—iii),(d—iv)

4 % (a—v),(b—iv),(c—iii),(d—ii)

Question Number : 3 Question Id : 8135612723 Display Question Number : Yes Is Question
Mandatory : No
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Green algae store food in the formof A i specialized structures called B locatedin  C .

Fill in the blank with respect to A. B. C and choose the correct option?

B IR A Grieds’ Uo) QG B DB(ED ATy Oy B otrd. €5) Gods
20% (. A B, Cod 203 2rTTuR) Jodol?

Options :
A — starch. B —pyrenoids. C — chloroplasts

- A— 26y, B pdranden. C — 0 Sewdew

A — flat. B — ribosomes. C — pyrenoids
A —EPen. B - geiE oen. € — pdmrowéen

A — protemn. B — chlorophyll. C — pyrenoids
A — Arosdoen. B — D@00, C — D8Tronden

A — carbohydrate. B — plastids. C — pyrenoids
A — o€, Dorgren. B - Fa. C —pdoranten

Question Number : 4 Question Id : 8135612724 Display Question Number : Yes Is Question
Mandatory : No
Assertion (A): Petro plants yield Bio-diesel

Reason (R): Jatropa 1s rich m hydrocarbons

Do (A): DE” 200E) L0 LCITEESB WEINDO

S8t (R): 2853 208) & rES°6)Den I8y I Gotdid
Options:

A is correct but R 1s wrong

1 % A 2028 57 R 2005°co
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Both A and R are correct and R 1s the correct explanation for A
> A 208030 R 20 Gt 2000 L8030 R 936 A S R0 QD068

A 1s wrong but R is corract

3 % A 28576 57 R 2008

Both A and R are correct and R is not the correct explanation for A
4 % A 208030 R e Godtsr 200D 570 R 938 A S 28 DH08 5760

Question Number : 5 Question Id : 8135612725 Display Question Number : Yes Is Question
Mandatory : No

Which statements regarding heterospory are correct?

(1) The megaspores and microspores germinate and give rise to female and male gametophyte respectively

(11) The female gametophytes in these plants are retained on the parent sporophytes for variable periods

(1i1) The development of the zygotes into young embryos takes place within the female gametophytes

(1v) This event is a precursor to the seed habif considered as an important step in evolution

ai) ?agba.as: faotioBlo) D) 90N’

TR Sedepen, Ang) 16 D2p0 0SSR § Rodir Descosd, i Boalrd Heody Ddyi
() & 2w8ypd" Mdado P Eod o ik Rodir Dato Goriy

(i) odirtf Daciod” do0ing Deicio dociar 6D ooy

o G

(iv) & 20k0 o AO\EEPS QPO DA Ariliod. B £ DB S0 AnaE Bk

Options :
(i), (1) & (iii) only
L x @, () & (jil) g

(ii) & (iv) only
Ly (i) & (iv) 2rgd

3 v @), Gi), i) & (iv)
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(i), (iii) & (iv) only

4 % (i), (i) & (iv) Srddo

Question Number : 6 Question Id : 8135612726 Display Question Number : Yes Is Question
Mandatory : No

It floral formmila. ‘K™ and *C" stands for
?’.;-_)‘?’qj HODEGEI0eS” K 208050 ‘C7 &) Drdond

Options :

K —corolla. C — calyx
. K —e5ds Doraov. C — 658 Do ad

K —calyx. C —corolla

K — 688 Dmrav. C — es868 Dorov
2.9 =

K —calyx. C —calyx

- K - 058 HDoradv. C — 08s Horaov

K —corolla. C — corolla

K —es88s DHorad. C —essds Dorsdd
4. % o3 o

Question Number : 7 Question Id : 8135612727 Display Question Number : Yes Is Question

Mandatory : No
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Assertion (A): In nepenthes leaves are modified to trap nsects

Reason (R): Insectivorous plants frap insects for their nitrogen requirement

R3ydo (A): Ve & DI SHSTVR) LoBOILIL) BRVIT Eraredito BodRD
St (R): SUS6 28 en T8 $8a) BS00T0 FE5 SHFUR LoBoti
Options :

A is correct but R 1s wrong
1 = AROIS 572 R 285~

A 1s wrong but R is correct
A 28570 570 R 2oRE

Both A and R are correct and R 1s not the correct explanation for A
A SB0iw R e Tedr 20D 50 R 0938 A S 20D D506 5760

Both A and R are correct and R 1s the correct explanation for A
A 208030 R 20 Codia® 200D S0B0in R @938 A § 280 D068

Question Number : 8 Question Id : 8135612728 Display Question Number : Yes Is Question
Mandatory : No

Which of the following is not a stem modification?
S0 T°05° P Brarocito ST

Options:

Tendrils of cucumber
|« O%S H8 drew

Flattened structures of opuntia

5,00035765" TS S}U"én"m
2. % = =

AP EAPCET 2021



AP EAPCET 2021

Pitcher of Nepenthes

DB Srer
3. v

Thoms of citrus

4 2}:1:&95‘ S00%0;

Question Number : 9 Question Id : 8135612729 Display Question Number : Yes Is Question
Mandatory : No

Strobilanthus kunthiana flowers once 1
NOd0z (FDerosd Sodoirar) Dayodo

Options:

100 years

100 “ﬂoé@_jU“USJ 2,598
1. % i

30 years
30 DoDS\TVL wST0
2. %

12 vears

12 VoJS\Tu 2,870
3.

50 years

4 50 RodehT L 2,86

Question Number : 10 Question Id : 8135612730 Display Question Number : Yes Is Question
Mandatory : No
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Integuments are absent in
S$o0d 705 oBSSETen T oo (e Q00E) e

Options :
Helianthus
, RroETode (c7Da3rodd)

Loranthus

Polygonum

3 % &bﬁ&éu

Damra

4 % &Iuée_:g

Question Number : 11 Question Id : 8135612731 Display Question Number : Yes Is Question
Mandatory : No

Meiocytes are
DoSIrDew

Options :
Gametes
2oGarHaare)

Gamete mother cells

5 Rodir Dz HrdéSeren
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Haploid gametes
DS DS VoI DaFed
3. % ®

Diploid gametes

. €0 ﬂg@g 20036 Daren
4, :

Question Number : 12 Question Id : 8135612732 Display Question Number : Yes Is Question
Mandatory : No

In OQogamy. fertilization mvelves

0906 VoMIF(oes’ DVASGES’ 8 JiFeBd?

Options :
A small non motile female gamete and a large motile male gamete
25 rﬁéﬂ‘l DO Gerdd fé RoCIrs Do, ws D6 A PN RooIrridzo

A large non motile female gamete and a small motile male gamete

L v 2€ DG BV EIreS Q Roadr Dao, ¢ D) A20D 3P Vodirrd2o

A large non motile female gamete and a small non-motile male gamete

- WE DG WD 6 ?g:aocﬁrri Do, w8 DR BN S YAR Vodirddee

A large motile female gamete and a small non-motile male gamete

L 28 DG 0D Eé Rodir( Do, s DI LR Burd PR Vodirrdae

Question Number : 13 Question Id : 8135612733 Display Question Number : Yes Is Question
Mandatory : No
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The side of flower facing the mother axis is called
QIR B0 Dol Yy BT Arotdd
Options:

Anterior side
Foedo DD

Posterior side
2T"oddo DY)

Dorsal side
D3 erfic 22D

Ventral side
&G6 arrio DY)

Question Number : 14 Question Id : 8135612734 Display Question Number : Yes Is Question
Mandatory : No

Benthem & Hooker divided the following plants into 3 classes which inclndes

o) 20805 TS &) ayold AE; VR 3 BOAGRVIT Dz, B

Options :

Dicotyledonae. Angiospermae. Monocotyledanae

. Bsev Daren, e3:58 Deren, DSGe DL
1.

Dicotyledonae. Gymnospermae. Monocotyledanae

- BT Daren, Dyd Daren, DSGL Dared
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Pteridophyta. Bryophyta. Angiospermae
SOEDET, LOIT PP, €35 Daredd

Bryvophyta. Pteridophyta. Gymnospermae

AITrDER, GBEDEr, Dy Daren
4. % [ - [~ a

Question Number : 15 Question Id : 8135612735 Display Question Number : Yes Is Question
Mandatory : No

Study the given statements and select the correct option?
(1) Carbohydrates. proteins. nucleic acids and lipids are primary metabolites

(11) Alkaloids. flavonoids. rubber etc: are secondary metabolites

B NP TE(R0 SAD AR T ) Eodt?
(i) od DT, Tehdoww, Sogs saren, Dbt FES Sddcird T e
(i) &)o@, FITANE, 6e)y6 GV BB BISrS T
(i) BSS, DSOS, IS esdhren 3 wds(s EP virw

Options :
Statements (i) & (ii) are correct
- (1) & (i) o5 PDBAID

Statements (i) & (iii) are incorrect
- (1) & (iii) T°S7{RO DOALDD S°Y

Statements (i) & (iii) are correct
- (1) & (iii) Jrs7jen VOALHD

Only statements (ii) 1s comrect
4w (ii) .:.':“Sgn SordD DOADLAE
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Question Number : 16 Question Id : 8135612736 Display Question Number : Yes Is Question

Mandatory : No

Match the following?

AP EAPCET 2021

Chromosomes

Centromere

Chromatids

(a) Metacentric

(1) Nearer to one end

(p) Extremely short and long

(b) Telocentric

(1) Middle

(q) One arm

(¢c) Submetacentric

(111) Close fo its end

(r) Two equal arms

(d) Acrocentric

(1v) Termumnal

(s) One short one long

S0 7D adhitiet]
Earéow DotF s EardEen
(a) oLrRoLs () w8839 odocsds | () w8t errr T, 288 Ty
(b) B&2088 (i) sy (q) w8 P

(c) %8 Dobrrot)s

(iif) w8 53D orer elyle

(I) 2 NAFIDN EPTVHW

(d) e85

(iv) 5336
' [A]

(5) a8 eriroi T, wet) T

Options :

1% (a—i—p), (b—ii—r), (c—iii—q), (d—iv—s)

> % (a—ii—r), (b—iii—q), (c—iv—p), (d—i—s)

3 ¢ (a—ii—r), (b—iv—gq), (c—i—s), (d—iii—p)

4 % (@a—iv—q), (b—i—p), (e—ii—r), (d—iii—s)
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Question Number : 17 Question Id : 8135612737 Display Question Number : Yes Is Question

Mandatory : No

Select the incorrect statement of Biomolecules?
RTENRHVL VooBow) VEGDAG 57 T°S(o?

Options :
The most abundant protein in Biosphere — RUBISCO
RTH0E085" Bd[od VM)A &) D0 — A
o ¥

Cotton fiber is Protein
S v A ordo — w8 T

Fungi have complex polysaccharide is Chitin

3omren 305 o3 Dodh FVTTE M SDosveR
3. %

The most important form of energy currency 1s ATP

£ 500G B A 3§ G50 — ATP
4. % @ = S

Question Number : 18 Question Id : 8135612738 Display Question Number : Yes Is Question
Mandatory : No

Choose the incorrect statement?
B DY) TS HBDG 57T

Options :

Guard cells guards the Stoma

- CE£8 St DS Comr) G£othadd

Guard cells are enucleated

5 @ G55 Stren Sofs SorTren
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Guard cells have uneven cell wall thickening
, 088 swo somjen 208 o) Gokd)

Guard cell possess chloroplast
. 688 SrTen FOSTrLHVRD si}ojnoc.‘.am

Question Number : 19 Question Id : 8135612739 Display Question Number : Yes Is Question
Mandatory : No

The characters restricted fo monocot Stem & Leaf respectively

RESY D SPotio Abo Do AN Srd0 HODSION VLT
Options :

Trichomes & Bulliform cells
5&“5:3 2080530 mB,&‘E& SeTe
® S o

Lysigenous cavity & Bulliform cells
, o PODPS SIFGo B e0dIrg) seren

Trichomes & Lysigenous cavity

- g_%"’ﬁ:;} 200030 woiErd Syt

Bulliform cells & Lysigenous cavity
4w m@:}ﬁé gere Juboiy wabard 0o

Question Number : 20 Question Id : 8135612740 Display Question Number : Yes Is Question
Mandatory : No
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Which statement 1s correct?
S0 TDS" VOD TE(0?

Options :

Phloem fibres are absent in most monocot
- DS, T DEGY Derwd” TS snere T6e EodD

Phloem parenchyma are absent in most monocot
- D) ST DSGY Dareds® TS Seare 20y SEErvo Gokcd

Phloem fibres absent in the primary phloem

v TGS DS Srweed” VNS Snrw TPGeD Goka)

Phloem fibres absent in the secondary phloem
n AN Seaerw TrowL ABAD NS Servod” Gok)

Question Number : 21 Question Id : 8135612741 Display Question Number : Yes Is Question
Mandatory : No

Cambium activity is
Deraaf Seazrwo dairde

Options :

more active towards the periphery of stem
. STotio DDV (o DY) S go:améga A

more active towards the lateral sides of stem

. S ocio ﬁ"c&-‘)& TR DY) WAS S0Ird) S BIRHD
2.

3.¢
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more active towards the mmner side of stem
Sotio 0D PR BAS Soire) S8 BRH

same on both sides
4 % RODDY" 28° GotOA

Question Number : 22 Question Id : 8135612742 Display Question Number : Yes Is Question
Mandatory : No

Assertion (A): Desert Plants have sunken stomata

Reason (R): To enhance transpiration in desert plants

Q3zdo (A): JE-0 208) o A2 DG Gores s§ &ofPo0

s*6to (R): 2500 208) 05" 2D e\ B8 Iy 2otitdd” ¢y
Options:

A is correct but R 1s wrong
| v A X358 59 R 285

A is wrong but R is correct
A 28570 =72 R 202

Both A and R are correct
A SoBoiv R e Doty ::ga‘:&")

Both A and R are not correct
A H0Bain R e Godsr R 5°)

Question Number : 23 Question Id : 8135612743 Display Question Number : Yes Is Question
Mandatory : No
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Match the following?

Column I Column II
(a) Predictable change m species composition (1) Equilibrium
(b) Climax communify (i) Seral stages
(c) Entire sequence community (i11) Ecological succession
(d) Transitional community (1v) Sere
(v) Succession

Sof T BEIGI0R ]
28R -1 odn - 10
(1) $3mR0rBoT 2800 RWRRE" iratifio Araney | (i) HEDO
(b) &6 oo (i) gméoﬁa G
(¢) §3008" S A8 HIvTairey (1if) €8:5689 Notot) VS0
(d) gardab dawmrairey (iv) $vgo
(V) essngdo
Options :

1 % (a—1),(b—v),(c—iii),(d—ii)

, ¢ (a—iii),(b—1i),(e—iv),(d—ii)

3 % (a—ii),(b—iii),(e=w),(d —iv)

4 % (a—iv),(b—v),(c—ii), (d—i)

Question Number : 24 Question Id : 8135612744 Display Question Number : Yes Is Question
Mandatory : No

AP EAPCET 2021
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Water potential of pure water at standard temperature is
26 &GS G OIG 2o aE), VO IS)0
& £ @ =]

Options:

1.v 0
2 % =>1
3 2 <1

4, & ©

Question Number : 25 Question Id : 8135612745 Display Question Number : Yes Is Question

Mandatory : No

Which one is not an ethylene effect?
DS 258 ABDD DerHo 5B DA?

Options :
Horizontal growth of seedlings

- ot ;1‘:3559_:?3“" S SRSISOTIRS LR o R To Vg RTat

Swelling of the axis
Lo StzCo
%

Apical dominance
oo
v L

Apical look formation in dicot seedlings
4 % BL6¥ D2z T°6> 208) 0&5° £'5) 0 ool ko Bdoird

AP EAPCET 2021
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Question Number : 26 Question Id : 8135612746 Display Question Number : Yes Is Question
Mandatory : No

The magnitude of increment in water potential in a turgid cell 1s called

w8 D8 S008” 0 ottt 0 JoddL A 350 O BedoS T e90LFd)

Options :
Solute potential

Drh 35)0

Pressure potential

&
. o Tl %an

Water potential
D 3810

Osmatic potential

GTrER0n ¥S)0
4. %

Question Number : 27 Question Id : 8135612747 Display Question Number : Yes Is Question
Mandatory : No

Foolish seedling disease of rice led to the discovery of
38 T GG Sty DD I8y H Aves T8 B0 SFHE=IS trd 00?7

Options:
Abscisic acid

- es-fjhf‘aé €350

AP EAPCET 2021
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Cytokinin
2¢5°825

Auxin
Ejé :)5

Gibberellin

A amaﬁﬂbm

Question Number : 28 Question Id : 8135612748 Display Question Number : Yes Is Question
Mandatory : No

Match the following?

Enzymes Functions

(a) Lyases (1) Oxdo reduction
(b) Isomerases (1) Link compounds
(c) Dehydrogenases (1) Transfer of group

(d) Ligases (iv) Interconversion
(v) Removal of groups

808 TN adHtoc.”
oS0 T8 Do

(a) LODHED (i) €55y566 $aDE6E SO[D

(b) oJ0633 (i) eomrod $9HD

(€) Carmadad (1) DAVTAITAY 269 Bodn

(d) ofed (iv) €086 wBdS" "0k

(v) ddnmrcirod Sofotha

Options :

1 ¢ (@a=v),(b=iv),(c—i),(d—ii)

AP EAPCET 2021
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, x (a—iv),(b—v),(c—ii),(d—iii)
3 % (a—iii),(b—ii),(c—iv),(d—i)

4 % (a—i),(b—iii),(c—v),(d—iv)

Question Number : 29 Question Id : 8135612749 Display Question Number : Yes Is Question
Mandatory : No
Assertion (A): In Apoplast pathway. water movement is ultimately Symplastic in endodermis

Reason (R): Root endodermal cells are suberized

.-'J-?'}én (A): Dy wﬁ“@?g Ao’ é@oﬁéﬁbﬁé. &Joéﬁdéo ;5605 ?a:@“g Aot 2SS
6t (R): S eodai6) Srren Areds e 266

Options :

A is correct but R 1s wrong
A 2008 572 R 2ddsc

A 1s wrong but R is correct
A 2857 570 R 20/

Both A and R are correct and R is not correct explanation for A
A 83w R e Gottr 20D 5°2 R 938 A S 20 D506 S5°¢

Both A and R are correct and R is the correct explanation for A

4 A Sobain R e Godsr 200D £S08030 R 038 A § 20D DH0ee

Question Number : 30 Question Id : 8135612750 Display Question Number : Yes Is Question
AP EAPCET 2021
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Mandatory : No

Transition State
S0 05Ga ’80

Identify the labeled parts 1,2,3,4
the Concept of Activation energy

shown in the below diagram?

y

adad 38 IV Vowodowd Sod

@

H008° 1,2,3,4 erros Mdotsed.”?

Polential Energy
ez 5

Progress of reaction
oy B
Options:

| — Activation energy with enzyme, 2 — Product, 3 — Subsirate. 4 — Activation energy without enzyme
| 1= 0B 6308 98,0600, 3 - Do, 4 - Do Sor a0 ¥

| —Product. 2 — Substrate.3 — Activation energy with enzyme. 4 — Activation energy without enzyme
, |60 ) - o6 dudo. 3 - oFDS &3ed 38, 4 - B Tt &3ad 38

| — Substrate, 2 — Activation energy with enzyme, 3 — Product, 4 — Activation energy without enzyme
. |-esomdo 2 - DoFE &Bad 38, 3 - 6or\ Ao, 4 - JED Tt GBad 3

| — Activation energy without enzyme. 2 — Activation energy with enzyme. 3 — Substrate. 4 — Product

11— 085 Gtoor 6328 48,1 - Dognd 6 #8.3 - et b, 4 -6 B8
4, -

Question Number : 31 Question Id : 8135612751 Display Question Number : Yes Is Question
Mandatory : No
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Which one 1s a bacterial disease?
De5” erdbosr o6 087

Options :
Rust of Tea
1 % B0 Srben

Red rot of sugarcane

, x DO DY DR Bridew

Citrus canker

f:};.‘z.&é’ a2 arbew
3. v 2

Late blight of potato

EIOTT % G0 Ei’eSEQES aoen
4, # =

Question Number : 32 Question Id : 8135612752 Display Question Number : Yes Is Question
Mandatory : No

Prophage 1s viral genome
TOE T D6S 2R0§OEGo

Options :
Freshly synthesized
TP odae DaDRCHE

Inoculated to a bactermm

- a:ugacmaas; 5T Dodco
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Outside the host cell
. 29GH0N S0 DDV aécl&.a

Incorporated and integrated to host genome

RIBIBO ee.m;g::m“goé“ Do B0 RATSHBDIS
4.9 :

Question Number : 33 Question Id : 8135612753 Display Question Number : Yes Is Question
Mandatory : No

Mendel's work remains nnrecognized because of the following reasons except
oS HAFTFLL MBewdeEs SerAs s°ne 67

Options :

Lack of commuuication and no publicity
RATETE Dotlomren FEJ HEe. DEEde 58 Do

Concept of genes as stable discrete units
amé:av o w5°0o a.ﬁa}g;‘@m ‘;"’gdnn“. :}E’Eﬁ AT ETRITT Goldnd

Application of mathematics to explain biclogy

. EITT) VDB AL3STI D) DI Hotsedo
3. = <

He provided physical proof for the existence of factors

4w =eloal B! &a‘lﬁ e9RDEIS) (TS BT ofodad

Question Number : 34 Question Id : 8135612754 Display Question Number : Yes Is Question
Mandatory : No
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Single gene can produce more than one effect, like starch synthesss i pea plant. It has two alleles
(B &b) for starch synthesis the phenotypes of which are also given below BB, bb, Bb . which are
correct?

(1) BB — round seed. large starch grain

(1) bb— wrinkled seed. less starch grain

(iii) Bb — intermediate size seed, intermediate less starch synthesis,

o) 288" 28 20[Y F6y Do ot 258 S0t DerIodd 6\ oV,
il Q‘BD Rofa 50 Botd adwrd) Qseryoio (B &h) s@ Gotwod. & aos), &% Erarus
B3N B3(RGHD BB, bb, Bb 06" DA 2887
(1 BB — Do Jddo, Bl gﬁa OeeY)
(if) bb— Aacde ke, B8y, Dot B
(i) Bb— m%: 2BArmofiy dide, 805 Dok B NoFe
Options:

(i) & (ii) only
o (@) & (i) Srgd

(ii) & (iii) only
, (i) & (i) 28

(i) & (iii) only
5 x (D) & (ii) S8

4w @, G) & (i)

Question Number : 35 Question Id : 8135612755 Display Question Number : Yes Is Question

Mandatory : No
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Arrange the following events of the replication of DNA. Choose the correct alternative?
(1) Bonds between complementary bases breaks
(1) Bonds between complementary bases forms
(1) DNA molecules uncoil
(iv) Opposite strands separate
(v) Sugar phosphate bonds forms
(v1) Free nucleotides align with the complementary nucleotides on each strand
DNA 35,8 cing), So8 Dotubdu) H6R 008" 9200 \oti. NG QT alrd) amlﬁ“od'?
(1) RoPds TV ) Wotren ) YT
(i) Rods TTY DE] tiolre i)djc:wom
(1)) DNA exwaen et dad'ddo
(iv) N8 Jesen DETeran
(v) @6 3‘2:_\]&5 AR Ddbc:wcm
(vi) 08 I D
Options :

1% (), (D, (i), (v), (v), (i)
5, x (i), (vi), (@), (v), (v), (ii)
5« (), (i), (vi), (iv), (), (v)
4. v (i), (@), (iv), (v), (i), (v)

Question Number : 36 Question Id : 8135612756 Display Question Number : Yes Is Question
Mandatory : No
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—, Gas

The below diagram represents a typical Toind
biogas plant. Select the correct option for A.
B and C respectively? .
e
=
B®3 B3cs g narmd Fose —— (B ]
fotiololsd. 536 A B ot Codo | U (@)
Digestor
&do 8% i
W =

Options :

A — Sludge. B — Dung + water, C—CHy+ CO;

A G oTTew. B — e+ . C — CH,+ €O,
1. % @ @

A — Dung +water. B — Sludge. C—=CHy+CO,

A — D& + Do, B — &(0 HoTren. C—CH,+CO,
2 % =} @

A — Sludge, B —= CH, + CO;. C — Dung + water

A— S0 dorgrew. B - CHy + CO0;,. C — ¢ + water
3.¥ @ *

A—-CHy+CO,. B — Dung + water. C — Sludge

A - CH, ¥ CO;, B — ¢ + D, C — 358 DT
4, % @ @

Question Number : 37 Question Id : 8135612757 Display Question Number : Yes Is Question
Mandatory : No
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Match the following
Features Action Function
(a) Oni (1) Kanamycin (p) Copy the number of linked DNA

(b) Selectable marker (1) Transfer genes (q) Link Alien DNA

(¢) Clomng Sites (111) Replication (r) Eliminate non transformants

(d) Cloning Vectors (1v) Recogmition site (s) Plants and Animals

308 T BBH0H0E?
VET tﬁﬂ“ﬁba‘éo Ha
o O () STd (p) #o0rh) 20 DNA 380 Tochty
() Dods Sosoess arey5 | (i) asofee wad | (q) derdab DNA & wogdodydn®
(c) ER0oh pBTew (ili) pagS (1) 983080 50 Srrud) Svhotio
(d) EQoh Tirse (iv) fhboy ndwan | (5 20080 B0 Bodd)en

Options :
- (a—i—s),(b—ii—1),(c—iii—q),(d—iv—p)

2. v (a—i=p)b—i—r)(e=tr—yq) (d—=g)
, x (a—ii—r),(b—ili—p),(c—i—s),(d—iv—q)

4% (a—iv—q),(b—ii—s),(c—ii—p),(d—i—q)

Question Number : 38 Question Id : 8135612758 Display Question Number : Yes Is Question
Mandatory : No

Select the incorrect statement of technique Gel Electrophoresis?

25 JEVTID alroBSes” DOGLHG T°IB?
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Options:

The agar matnx gives sieving effect
OREE 8S GO DErdo SYBaiv

The DNA fragments are separated based on their size
DNA gotioren T7¢ D80°rra)) 280w S6ra)

Extraction of DNA from Agarose gel is Elution
(5% 8 Ao DNA 2d0d BAF 6. HID IR eotrdd

Separated DNA strands are stained with Calcinum Chloride

4 o D00Babedd DNA sodoren s*dabe 068 wddondo BIG®

Question Number : 39 Question Id : 8135612759 Display Question Number : Yes Is Question
Mandatory : No

The use of friendly bacteria for therapentic use is a concept of
) SPUPOSR triBanrd) 6 DS\’ GocrAents’ BE atvd) 3

Options :
Antibiotic
| w RPE RO THSo

Probiotics

- SATevE 3

Beverages

5w OB FDoiren
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Enzymes
JoZeD

Question Number : 40 Question Id : 8135612760 Display Question Number : Yes Is Question
Mandatory : No

Study the following statements and select the incorrect ones?
(1) Physical removal of large and small particles through filtration and sedimentation is
called primary sewage treatment
(11) Secondary sewage treatment 1s mamly a mechanical process
(i) Activated sludge sediment in s sewage treatment plant 1s a rich source of aerobic bacteria

(1v) Biogas. commonly called as gobar gas. is pure methane
Sotd DLV eE[abdo aoi:5o&. 2057 w8 T Jmﬁo&?
(i) TBSorT S0l D, W) DY ErTO) S6TS, 03760 T ANITD. GBI
TS AR 208 o Lot
(i) 8o SR 28 Do a8 SwaEVM aireds Hiad
() 20650 O 08 26 obogos’ &) WABH WG B3F 0, 8BS Ty
EPSD0IT ST Gotiod
(i) Rreromsor feid S0 © HevdE LA ABYR D65
Options :

(i) & (ii) only
e () & (i) argd

(ii) & (iv) only
, o (i) & (iv) 3783

(ii) & (iii) only
5w (i) & (iii) 2rg3o

4. %
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(iii) & (iv) only
(iii) & (iv) Srad

Zoology
SectionId: 81356160
Section Number : 2
Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks : 40

Enable Mark as Answered Mark for Review and

Yes
Clear Response:

Question Number : 41 Question Id : 8135612761 Display Question Number : Yes Is Question
Mandatory : No

Regional diversity is also called
2,8 DB Wotvod (1w 2D DG e908T°E0

Options :

Gamma diversity

s Do
1.¢

Alpha diversity

- €30y DIGB0

Beta diversity

 Der Do
3. % =
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Ecosystem diversity
¥ gheTe > :':3)::-5-:
4, % =

Question Number : 42 Question Id : 8135612762 Display Question Number : Yes Is Question
Mandatory : No
Taxon “Tigns’ represents
OAR IG D EPED & AT
Options :
Class

1 % aerio

Species

Fanuly

3 % SV

Genus

4% D2

Question Number : 43 Question Id : 8135612763 Display Question Number : Yes Is Question
Mandatory : No

Amongst all the kingdoms. the only taxon that exists in nature as a biologically cohesive unit 1s the

05,06° &) B Y’ D 283 o8 (757D © BoBR) Ee AototRR Rodw

2RO GoTO,

Options :
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Phylum
Eﬁgﬂ

Species
2P

Genus
POl

Kingdom

4 v TP

Question Number : 44 Question Id : 8135612764 Display Question Number : Yes Is Question
Mandatory : No

Which of the following has no coelom?

S0 Tve3e5° 380 Hirdo T Bew

Options :

Platyhelminthes

é"éﬁ :J“E)éo:f;-hi:l
1.4

Arthropoda
Hgﬁ"c:“

Annelida
T Fot o

Mollusca

4w 00T
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Question Number : 45 Question Id : 8135612765 Display Question Number : Yes Is Question
Mandatory : No
Which of the tollowing is correctly matched?

(1) Coelomates — Aschelminthes

(11) Triploblastic — Sponges

(1v) Metamerism — Molluscs

208 o835 DB 2DGNEDE
(1) 33663.363 — ﬁﬁbbﬂéﬂéﬁ
(i) BTV — dyosew
(i) Sdewah Fhdo — STotider
(iv) DD JT{Ro — 00,
Options:
(i) only
, x (i) g0

(ii) only
), w (ii) Brgd

(iii ) only
5 (iil) 2rgdd

(iv ) only

4w (iv) argdo

Question Number : 46 Question Id : 8135612766 Display Question Number : Yes Is Question
Mandatory : No
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(3)
(b)
Label the parts corresponding to the alphabets m the
given diagram given?
& 58085°D BrHI TV HBotsed?
()
(d)
Options:
(a)- Nissl granules.  (b)- Dendrites. (¢)- Synaptic Knob. (d)- Nodes of Ranvier

- (a)- QS BewYew, (b)-Eogtien, (c)- TS DeAALIED, ( d)- organs geY

(a)- Dendnites. (b)- Nodes of Ranvier. (c)- Nissl granules.  (d)- Synaptic Knob
. (8)-Gogéeo, (b)-Trqa6 sty, (c)- QRy® B, (d)- TS0 DoB0Dend

(a)- Dendrites, (b)- Nissl granules, (c)- Nodes of Ranvier, (d)- Synaptic Knob

3 ¥ (a)- Gogéien, (b)-Any® BewPew, (c)- TAEDs sewy, (d)- e Podaband

(a)- Synaptic Knob. (b)- Nissl granules.  (c)- Nodes of Ranvier. (d)- Dendrites

. (2)- E8e Dodabend, (b)- :}ijbe.'i Benadew, (c)- ovAods sewsy, (d)- dngﬁw

Question Number : 47 Question Id : 8135612767 Display Question Number : Yes Is Question
Mandatory : No
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Which of the following statements are wrong related to Nematoda?
(1)  Bedy is coverad by tough and protective collagenous cuticle
(1) Excretory system consists of renefte gland and ducts
(ii1) Alimentary canal is incomplete
(1v) Sense organs like amphids and plasmids occur

(v) Sexes are not separate (Monoecious)
DA BotioBod) S0 D HELIL) D5’
(i) G 3Bow) FORGEND, GEMD STad IBLS VIEPN Gotvod
(ii) dge ;55;3;36“ O (fotien. IR Gotron
(111) es3¥ET Yo E‘.ﬁ’doﬁ}_‘jﬂgmw GotLod
(iv) eooEen. Q“faéé,m erot) TR GotFaw

(V) ezandord S

Options :
(i) & (iii) only
1 % (i) & (iii) Sorddd

(i) & (v)only
5 % (1) & (v) dorgddo

(i) & (v ) only

L o (i) & (v) argd

(i). (iii ) & (v ) only
4 % (1) (1) & (v) g0

Question Number : 48 Question Id : 8135612768 Display Question Number : Yes Is Question
Mandatory : No
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Study the following and find the correct combinations related to Arthropoda

Subphylum / Class Character Example
1) Arachmda a) Extinct marine arthropods p) Julus
1) Crustacea b) Gnathochilarum q) Dalmanites
iti) Chilopoda ¢) Poison claws 1) Aranea
iv) Diplopoda d) Biramous thorasic & s) Scolopendra
abdominal appendages
v) Trilobita e) Spinnerets t) Cancer

ugﬁ”cs"s; 20220800 Sof T B8 HBAVD SV Jos Boded

C%bbgo / dertio v&eio GOrron
) JUdye a) A6 ewd ug&&w p) FOR
i) gdhasr b) @odgen draredto tof Q) TR

R oo
iii) 56'Ter ) DY) darew 1) JOTROLr
iv) aYTe d) é&svﬁj)a‘b 3% 606 aForwy | 5) JBaop
v) 858 e) Ryd)dew t) 596
Options:

1 % (i—b—r)(ii—-d—gq),(ii—c—s),(iv—-e—t)&(v—a—p)
5> @ (i—e—r)(ii—d—t),(lli—c—s),(iv—-b—p)&(v—a—q)
3 % (i—e—r),(ii—d—t)(ili—b—p),(iv—c—s)&(v—a—q)

4 % (i=b—p),(ii—d—t),(ii—e—r),(iv—c—s)&(v—a—q)

Question Number : 49 Question Id : 8135612769 Display Question Number : Yes Is Question

Mandatory : No
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Assertion (A): Mammals have a relatively large brain when compared to that of other animals

m relation to body size
Reason (R): Number of optic lobes is four in the mammals and two in other vertebrates

TGS (4): 366 DBAPET) ©R0%00D) A6 BoBdPVS TWYE domrod’ B

bgﬁw Gotol
600 (R): 608 e G2 VoS GOl RAG BPVE Told ST Gokran

Options :
Both A and R are correct and R i1s the correct explanation of A
A 508030 R e Gottr 20 20080, R 0938 A § Do D060

Both A and R are correct and R is nof the comrect explanation of A

5 A H0B030 R e Tt 20 e20004). R 2928 A § HBe900d 9S00 S5

A 15 correct but R is wrong
A 208 572 R R8st

A 1s wrong but R 1s correct
4% A DB 57 R 20D

Question Number : 50 Question Id : 8135612770 Display Question Number : Yes Is Question

Mandatory : No

Cavity lodging lungs is
€308 830%) es3ado SEJJ-:{S 83580

Options :

Stomata

. ég‘%ﬁﬁao Sxndo
1.
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Abdomen
) % o S0Co

Thorax
3 ¢ GOET0o

Chest

5"&3.13&5}:3“{5::
4, ®

Question Number : 51 Question Id : 8135612771 Display Question Number : Yes Is Question
Mandatory : No

The smallest mammal 1s

S DD 26650

Options :

Hog Nose Bat

»h 59 (D00
1. ¢

Pigmy water shrew

- hﬁé aed Hr

Pigmy Mole
of), 2076
3. %

Plasmodium

4 % ?"ﬁl&ﬂtﬁan
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Question Number : 52 Question Id : 8135612772 Display Question Number : Yes Is Question
Mandatory : No

The neuromotor system that controls and coordinates the movement of cihia 1s formed by

#95en £6950R Aaoged PRI LB TETYs 3% S8 D6\ad0d?

Options :
Kinetic and cilia

- Sen Aodokn 3Dgen

Infraciliary system and kinetodesmata
Q) 205 HEDV 2oBoI SIH G &
2. % = ® = >

Infraciliary system and motorium

Q0 28 SR Sododn 2785 Dasy
3. ¢ = ®

Kinetosome and Infraciliary system
SV 2Bt Dy FIsT [0

Question Number : 53 Question Id : 8135612773 Display Question Number : Yes Is Question
Mandatory : No
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Match the following?

ListI List I
1) Cellular extensions a) Mpyonemes
i) Whiplike organelles b) Cilia
111) Contractile fibrils ¢) Psendopodia
1v) Short hair like organelles d) Flagella

S0l T8 DG
01 USRI

i) Sk DRdEeN 1) Solif oo
il) Edererot) Smrorren b) #dsew
ii) 2087 3§ $9AD Sodoen ¢) Do
iv) DR DoPsV ero) SrFarTen d) sworw

Options :
1 % (i—a),(ii—d),(ili—c) &(iv—b)

s ¢ (i—¢), (ii—d),(ili—a)&(iv—Db)

3 x (i—d), (ii—a),(iii—c)&(iv—D)

4 % (i—e) (ii—a),(iii—d)&(iv—Db)

Question Number : 54 Question Id : 8135612774 Display Question Number : Yes Is Question
Mandatory : No
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Assertion (A): Plasmodium causes hypertrophy of RBCs in man

Reason (R): Number of RBCs in man increases due to Plasmodium

TED (A): RIS’ JgossETe TR DS T dowo s6e0
560 (R): Srdde” dosgsmre 2002 ulo o e 1 Q“ﬁ“é&,oiso BiPSHEIBE

Options:

Both A and R are correct and R 1s the correct explanation of A
A 8030 R 2 Bokr 28 o050, R 936 A & Do DHoe

Both A and R are correct and R 1s nof the correct explanation of A
A 508050 R e ot 20 2002, R 938 A S 280000 JS6m 5°a

A 15 correct but R is wrong

3 ¢ A 20/ 573 R 2057

A 15 wrong but R 1s correct
A V057 570 R 2508

Question Number : 55 Question Id : 8135612775 Display Question Number : Yes Is Question
Mandatory : No
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Match the following related to parasites?

Parasite Disease Caused

i) Trypanosoma gambiense a) Delhi boils /ortental sores /
Tashkent ulcers

i) Wuchereria Bancrofti b) Malaria

i) Leishmania donovan ¢) African sleeping sickness

1v) Plasmodinm sps d) Elephantiasis

v) Leishmama Tropica ¢) Kalaazar/ Dum dum fever/
Visceral Leishmaniasis

f'.JU“él?EQ_)USJ otoBot) Sofd TR BHGHE?

bu".:&léb RoZod (0

) OFSTdrmodandy | a) A S'owdy/Lbatorss
6/ @iy 08 Qogo

i) €S000ir EJ"QUE"% b) o&dair

iii) 5&“&30‘1}“ Edad ¢) R8I BddT T(B

iv) ) doto rdow d) 0ethalrad

V) E)a»é:m ooy ¢) Sur b/ coto a(bo/ Bodurofs
bﬁ“&bnﬁr?aﬁa

Options :
1 % (i—e¢), (ii—d), (iii—a)(iv—Db)&(v—e)

, % (i—d),(ii—c) (ili—a),(iv—b)&(v—e)
3 ¢ (i—e),(ii—d),(ili—e),(iv—b)&(v—a)

4 % (i—d),(ii—=b), (ili—a)(iv—c)&(v—e)

Question Number : 56 Question Id : 8135612776 Display Question Number : Yes Is Question
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Mandatory : No

A protein or polysaccharide molecule that stimulates antibody formation is

0G0 S05r89 DBVHAY w8 VB O FITRTE Lt Ddotrd?

Options :

Antibiotics
F.:Uﬂié‘ 25 T2

Antigen

5 PRS0

Exotoxin
mﬂ:vg;h Do

Toxin
25 O

Question Number : 57 Question Id : 8135612777 Display Question Number : Yes Is Question
Mandatory : No

A unit of photoreception in the eye of cockroach 1s
Eﬁ"’%us A E), Vocing Shoed’ (L SPod TS HATR0

Options :

Facet
S5y (Saoepdderreny)

Crystalline Cone

, o PSS S0
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Rh abdome
. DU"D0R Gotio

Ommatidium

4V ~TroBo

Question Number : 58 Question Id : 8135612778 Display Question Number : Yes Is Question
Mandatory : No

Digestion in Periplaneta begins in
DOT DT Dotk RogaDH évﬁae;mujné 2rrio

Options :

Pharynx

Pre oral cavity
5 @ S8 Jrog G0

Crop

3 % E.‘JZ-“;L'E'G'I)D

Midgut

4 % mm“g.’rcia“#a

Question Number : 59 Question Id : 8135612779 Display Question Number : Yes Is Question
Mandatory : No
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Match the following related to etfect of UV rays on organisms?

ListI

ListII

1) UV Light

a) 320 -380 um

u) UVC Light

b) 280 - 320 om

i) UVBLight

¢) 100 - 280 nm

iv) UVA Light

d) 100 - 380 nm

EAN) ) Hes waHus T sod ddrren DeraT S Dotiobow) Sof TE 2BH0BE?

8p1

O

) eddud iy ddmew

a) 320 -380 um

i) oddUG S C 5od

b) 280 - 320 nm

i) ©dDVE > B 50 ¢) 100 - 280 nm
iv) 3USIrS A o8 d) 100 - 380 um
Options :
o (i=d), (ii—a), (iii—b)&(iv—c)

, % (i—a), (ii—Db), (ili—c)&(iv—d)
3 % Li—d), (ii=b),(ili—c)&(iv—a)
4w i—d), (ii—¢), (ili—Db)&(iv—a)

Question Number : 60 Question Id : 8135612780 Display Question Number : Yes Is Question
Mandatory : No
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ListI

List I

1) Logstic growth

a)

Intrinsic rate of natural increase

it) Exponential growth

b)

Produce a large number of small sized
offspring

1) Age Pyramid ¢) Breed only once in their life time
tv) Pacific salmon fish d) Carrying capacity

¢) Declining population

Sof) T adHoes?
b1 Ball
1) wa?gé ;ﬁa(g a) ATy ahhEe faogaﬂ)é Bt
) b) trg) DBrmel’ 6 RoTTY) BhE
i) I8y TORHO 59 _
Adod’ GG tabdio

lii) SaIr T c) EDd 5ot 28 w D BB Ao
Iv) D08 &“0&5 A d) ardsied 38

e) ammmal LT

Options:

|« (i—e), (ii—a), (iii—d)&(iv—b)

2

.J(i—d], (ii—a), (li—e)&(iv—c)

3 % (i=d), (ii—¢),(iii—e)&(iv=>b)

4 % (i—e), (ii—a), (ili—d)&(iv—c)

AP EAPCET 2021




AP EAPCET 2021

Question Number : 61 Question Id : 8135612781 Display Question Number : Yes Is Question
Mandatory : No

Match the following?

List 1 List IT
i) Calotropis a)  Predator of Americana Pacific
i) Cactus b) Insects and frogs eryptically colored
i) Pisaster ¢) Distasteful glycosides
iv) Monarch Butterfly d) Cardiac glycosides
v) Camonflage e) Predator is moth
S0 TR 28DGBG?
b1 byl
) 200 a) b5 HoI5 Sdired HOBE
) b) Stsrew, Sy H0RT VS SuRdcd
) S8
N GorboRy 260, 0tito
1ii) 333"‘{36 ¢) &350 QAT T8 Tdke
v) 2R, erdsdes d) sBats N5k,
V) sarad ¢) DO n;a
Options :
- (i—c), (ii—e), (ii—a),(iv—d)&(v—=b)
. (i—d), (ii—e), (lii—a),(iv—c)&(v—>b)

3 % (i—a), (ii—d),(iii—e),(iv—c)&(v—Db)

4 % (i—e), (ii—d), (iii—c),(iv—a)&(v—Db)
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Question Number : 62 Question Id : 8135612782 Display Question Number : Yes Is Question
Mandatory : No

The farmer in Sonipat who practices integrated organic forming is

R0 Dodab ;55.1)3"0539 ;’:-%593 9500800 J'ADS L Bod Jev

Options :
Morar1 Bapa
1% Fobblolol virt

Ramesh Chandra Dagar

. Geneatdods trerid

Ahmed KEhan

- E_‘J:}“éﬁ 5 e |

Ramesh Bhai Ojha
4 % g 200 w2

Question Number : 63 Question Id : 8135612783 Display Question Number : Yes Is Question
Mandatory : No
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Match the following. The correct combinations are

List I ListIT List ITT
a) Figtree 1) Highly distasteful p) petals of its flower
b) Ophrys i) Cryptically colored q) special chemical present
¢) Seaanemone 1) Wasp r) clown fish
d) Camoutlage iv) Sexual deceit s) developmng seeds
¢) Monarch butterfly v) Stinging cells f) Insects & frogs

o6 TR 200, V0D AAFEFHe dons Batodt”

91 USRI 93 I

a) @9 Hotd i) Sam sre p) w)Rnyod w8 esdn HTY
SN

b) e i) poRTLd Q) 938 sFaTen $h
Sona'ad ol Gotilo

¢) »AArS i) €0t 1) 9 dbew

d) sardd Iv) Jofls Ardo ) 0098 Botidud) JgTw

e) Zfl]"a"ﬁ"lj V) od Stren ) Ssen & SO

o8 S8

Options :
1% (a—iv—p), (b—iii—1t), (c—v—1r), (d—ii—q),(e—i—5s)

, x (a—i—q), (b—iii—s), (c—v—r), (d—ii—t),(e—iv—p)
3 ¢ (a—iii—s), (b—iv—p), (e=v—r), (d—ii—t),(e—i—q)

4 % (a—iii—p), (b—iv—s), (e—v—2r), (d—ii—t),(e—i—q)

Question Number : 64 Question Id : 8135612784 Display Question Number : Yes Is Question
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Match the following. The correct combinations are

ListI

ListII

List IIT

a) Diapause

i) Temperature variations with
seasonal changes

p) Temperature lake

b) Cyclomorphosis

1) Light produced by living

OrZANISIS

q) Insects

¢) Thermal
stratification

i11) Inactiveness

1) Pyrosoma

d) Bioliminescence

iv) Seasonal morphological
variations

s) Daphnia

So® T 2BNH6), V0N AIrTH dows Bokod.”

SN0 ﬁdbc:‘.}e.}

0-:2 | b.fg 11 al;a I
2) GorD ) DHRHL IrOHR YD D) &06o
egajﬁ(jw bﬁ@“}gbﬂw Oy
b) gondrodied | i) dpwTedded\ddabde | g SwFw
¢) &2 2050 iii) & Bsom JBodatco 1) BT ar
d) 43 0ob iv) oo w 306 85,38" | 5) Tl

Options :

| % (a—iii—r), (b—iv—gq), (e—i—p), (d—ii—s)

5 o (a—iii—gq), (b—iv—s), (e—i—p), (d—ii—r)

3 % (a—i—q), (b—iv—1), (c—ili—p), (d—ii—q)

4 x (a—iii—s), (b—iv—q), (c—i—p), (d—ii—r)
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Question Number : 65 Question Id : 8135612785 Display Question Number : Yes Is Question
Mandatory : No

Identify the correct group of statements
(1) Oxygzen is carried by Haemoglobin
(11) Oxygen is carried by carbonic anhydrase
(111) Caron dioxide is carried by Haemoglobin

(1v) Sulphur dioxide 1s carried by Haemoglobin

808 T°855° HOD HIST VI ool
(i)  FArHDD 852 PV 6T Bod
(i) SENQEUTENE 5 2R VDV BT Baod
(i) FrHDS TONQEBTFED ST B
(iv) TFATrHOD D6 8o SRS
Options :

(i) & (iii) only
1 (i) & (iii) Sorgha

(i) & (ii) only
(1) & (ii) Qo0

(i) & (iv) only
(i) & (iv) Srgo

(ii) & (iii) only

4 % (ii) & (iii) Srgddd

Question Number : 66 Question Id : 8135612786 Display Question Number : Yes Is Question
Mandatory : No
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Which is the correct sequence of the air passage in man?
2rRdPES” mrd Dosreied 207TEY)) WBRD SR E008” MBotdod.?

Options :

Nasal cavity — Pharynx — Trachea — Larynx — Bronchi — Bronchioles — Alveoli

TRE° SRF0o — (RO — TATYo — A(EE — T(RTYo — F(OTYSW — ToiuETen
1. %

Nasal cavity — Pharynx — Larynx — Trachea — Bronchi — Bronchioles — Alveoli
v TRT Srdo — (R — :’05623935 ~ TONTYo — T(RTVo — TLRTISW — ToiuETW

Nasal cavity — Larynx — Pharynx — Trachea — Bronchi — Bronchioles — Alveoli
. TNT Lirde — ";osd;‘:eﬁﬁ = (R — TUNTYo — TOTVo — TRTVSW — FosnETen

Nasal cavity — Larynx — Bronchi — Pharynx — Trachea — Bronchioles — Alveoli

TIE Qo — AEALS — TRTTo — A — TANTYo — TRT VW —~ TosnE T
4, ®

Question Number : 67 Question Id : 8135612787 Display Question Number : Yes Is Question
Mandatory : No

Assertion (A): Pulmonary aorta in human embryo communicates with systemic aorta by a thin
vessel called ductus arteriosus
Reason (R): In the heart of human embryo. oxygenated and deoxygenated blood are

completely separated

TER (A): AT Dot (35 YD DG Bars G DRV dgﬁ ugﬁo}raﬁ
@R 05T Fod SeNDREETTON.

s0t0 (R): dr0:)R) Dotéod’ ytiaiod)” e okng SuBakn espud dard 65en
o dddobed sotran

Options :

1. %
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Both A and R are correct and R is the correct explanation of A
A 508030 R e Godir 20 9000, R 998 A S b0 Do

Both A and R are correct and R is not the correct explanation of A
A SoBain R en Godr 28 0000, R 938 A S 2deond doHde st

A 1s correct but R is wrong
A $038 5°9 R 285°0

A 15 wrong but R 1s correct
A 2857 570 R 20008

Question Number : 68 Question Id : 8135612788 Display Question Number : Yes Is Question
Mandatory : No
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Match the following WBC listed with the shape of Nucleus and choose the correct option?

WBC Shape of Nucleus
i) Monocytes a) 2lobes
i) Basophils b) 3-35lobes
i) Eosmopluls ¢) S -shaped
iv) Neutrophils d) Kidney shaped
¢) Disk shaped

B 08 St daiy T8 Sodis dPdo L RSDGW ABH VAT HBotied.?

) 05 St SogiS B0
1) ardp, a) 2 wodsew
i) E’Jﬁf’:}ﬁ;} b) 3 Aow) 5 vedden
iif) @RSy ¢) §esdo
iv) m@“&:ﬁh d) Srdaeto 5°60
¢) G usdo

Options:
1w (i=d) (ii—c) (ii—a)(iv—Db)

, & (i—e) (ii—a) (iii—b),(iv-c)
e (i—d), (ii—b),(ili—c),(iv—a)

3.

4 (i—a), (ii—c),(ili—e), (iv—d)

Question Number : 69 Question Id : 8135612789 Display Question Number : Yes Is Question
Mandatory : No

AP EAPCET 2021



A diagrammatic representation of a Nephron is shown

in figure with labels 1 to 6. Identify them correctly?

58, Dare Gar ddo 1 A0l 6 ©05d MG
o aagtod. 8 RO Miotd,

Options:

1. %

2. %

1- Efferent Arteriole.
4— Afferent Arteriole.

1- ©9DTFaT GaAvew,

4- o) T B0,

1- Afferent Arteriole.
4- Efferent Arteriole.

1- e9d) T B,

4—eodror G20,

1- Afferent Arteriole.
4- Efferent Arteriole.

1- eadTrer Goaoen.

4- DT G,

AP EAPCET 2021

2— Glomerulus, 3—- Bowman's Capsule,

5- Henle's Loop. 6— Vasa recta

2- 0g83T¥s" (odyo.  3- R PS,

5- T3S0, 6- TF0F

2— Glomerulus. 3- Bowman's Capsule.
5- Vasa recta. 6- Henle’s Loop

2- 0883795 otdye. 3- &R S

5- TJ0F". 6- bﬂé?STSa

2- Glomerulus, 3- Bowman's Capsule.
5- Henle’s Loop. 6- Vasa recta

2— dgéém@’s" ﬁjtﬁ;\'o_ 3- F o vs.
5- :?;}%‘55.3. 6- :.PEPE!E"
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1- Afferent Arteriole.  2- Bowman's Capsule.  3- Glomerulus.

4- Efferent Arteriole. 5- Henle’s Loop. 6— Vasa recta

1- D> G, 2- 500 fvs. 3- 6553T°¥s° (Ltdyo.
4- 0O R0, 5- RS, 6~ 0T

Question Number : 70 Question Id : 8135612790 Display Question Number : Yes Is Question
Mandatory : No

Which of the following is mismatched?
& 308 TS DOS 28 DBotiod?

Options :

Cerebrum — Memory
- L i

ST FOS 35

Cerebellum — Equilibrium of body
VDY 0 ~ FOC DATRS

Olfactory lobes — Sense of smell
Q73 WodSen — TR VotloBodd

Medulla oblongata — Temperature regulation

4 S0zr0BN ~ &d (o” Joedn

Question Number : 71 Question Id : 8135612791 Display Question Number : Yes Is Question
Mandatory : No

The primary visual centre/cortex is located in

FSE Gy SoGo DY) & SOE?
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Options:

Parietal lobe
éﬂ d@)ﬁ ﬂﬂﬂg

Frontal lobe
QPO LodS

Temporal lobe
Foaw wod)s

Occipital lobe

4 eETre wodE

Question Number : 72 Question Id : 8135612792 Display Question Number : Yes Is Question
Mandatory : No

Which one of the following pairs is incorrectly matched?

ol Tredes” ST 2HDOVDE?

Options :
Insulin — Diabetes Mellitus (Disease)
@mﬁéﬁ — Gairaed wHLD (Z75®)

Corpus Luteum — Relaxin (Secretion)

576y erjiioio — BerS\d (FrSso)

Glucagon — Beta Cells (Source)

y ST — Dérdrren (Aureo)
3.
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Somatostatin — Delta cells (Source)
4% Eﬁ“;ﬁréﬁ‘g"&é - Gerseren (Surwo)

Question Number : 73 Question Id : 8135612793 Display Question Number : Yes Is Question
Mandatory : No

LH and FSH are collectively called

LH 08030 FSH @& $92 2 Do Hendrdd?

Options :

Luteotropic hormones

wgécﬁr@*bé f.‘:%"é.%

Oxytocin

E.‘Fé:)ﬂsﬁ o

Somatotropins

FATSE DY

Gonadotropins

FrEE DDy

Question Number : 74 Question Id : 8135612794 Display Question Number : Yes Is Question
Mandatory : No

MTP stands for
MTP e

Options :

1. ®
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Medical Technology of Pregnancy

DALS O, v 6D 20)

Medical Test tor Pregnancy

, DASS O 6D 20y

Medical Termination of Pregnancy

AL 98 AN 8D DAY D
3 v LI OR8N

Methodology Test for Pregnancy

4w Ao 8 8D gﬁlbﬁ

Question Number : 75 Question Id : 8135612795 Display Question Number : Yes Is Question

Mandatory : No
Assertion (A): Myometrium 1s an important component of Uterus

Reason (R): Myometrium produces strong confractions during parturition

Ry0de (4): oairdaie R ﬂuuaéojaoa'i‘ ©8 20N Voo
5600 (R): D05 2005006° Sairantioho DR W8 oo SS\3 DO

Options :
Both A and R are correct and R 1s not correct explanation for A
A BH0Bain R e Godirr R0 08k R 938 A & 205 D6 5760

Both A and R are correct and R is correct explanation for A

5 A S0Bain R e Godr 200D 570 R @938 A & 283 DdHde

Both A and R are wrong

3 % A S506aiv R en Godlr R0s7cL
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A is correct but R is wrong

4 % A 20HE 570 R 200570

Question Number : 76 Question Id : 8135612796 Display Question Number : Yes Is Question
Mandatory : No

Match the following and choose the correct combination?

Disease Name of the Pathogen Type of Disease
a) Chlamydiosis 1) Treponema Pallidum p) Protozoan disease
b) Hepatifis — B i) Trichomonas Vaginalis q) Spirochete bacterium
¢) Trnchomoniasis i) Chlamydia Trachomatis r) Viral disease
d) Syphilis iv) HBV s) Bacterial disease

Sofd TEIR) BAHOD), DTN NAFTFRR Jows Babod

:.1'5@ 3"5‘2' 5080 28 3'5:‘,5 ¢80
1) Toirdd ) oY Fhed p) JEER 76
b) HE8-B i) gfarsddesdh | @ pFsserstor

c) BEArArDI i) gocolr r8Arsd | 1) 206 I

d) Nadd iv) HBV ) wéﬁo‘bﬁ B

Options:

1\’4.? [H_EII_S]- {b_i\;’—l‘), {C_ll_p}, (d—[—q}

« Ca—iti—p), (b—iv—r), (e—ii—s), (d—i—q)

2.

3 % (a—iii—q), (b—iv—r), (e—ii—s), (d—i—p)
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4 % (a—iii—q), (b—iv—r), (e—ii—p), (d—i—s)

Question Number : 77 Question Id : 8135612797 Display Question Number : Yes Is Question
Mandatory : No

Which of the following charterers was not chosen by Mendel?

408 TS Woke BN woees 20g). P86 HAIried” D LR VBARG'S HETL?

Options :

Position of Pod

SPCa AIWE), eSS
1. e

Pod colour
5 % S0 Gorh

Position of Flower

- 2DEy0 OIS, ,gvé;:m

Pod shape
4 % SO &T00

Question Number : 78 Question Id : 8135612798 Display Question Number : Yes Is Question
Mandatory : No
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When homozygous *A° blood group Man mairies homozygzous ‘B’ group Woman in °F,’
generation and “AB’ group of springs are bomn. When these °F, " individuals marry each other.

m ‘F," generation individuals with how many blood groups are borm?

QT'QJDC&DJ.J@ ib.‘ﬁ)o‘.inﬁéa ‘A dg;ﬁg RWRE. davodwri e ‘B’ dg;ﬁg E_g:l QT Ared
) 8608° 78 9080 “AB’ 6$300) $D0 Gokrh. A\ & °F,” 8o Igen
288340 Dariro BRuSY) owd F,’ Bbod” Iy 6570 655070 e YT

Options :
1.0 1

Question Number : 79 Question Id : 8135612799 Display Question Number : Yes Is Question
Mandatory : No

Select the incorrect statement?
$od T°3e5° LB Tg(a07

Options :

Male fruit fly is heterogametic

o 2005 £ Der Do oo (DE T G0

In domesticated fowls. sex of progeny depends on the fype of sperm rather than egg

PROCLETS ) 0870 Yol Ao 550 0o D365 T @0l DA T EFEACR
2. :
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Human males have one of their sex-chromosome much shorter than other
20670 (v Pohs EArd Aned” wsd H6E oIS THT Gotwod

In male grasshoppers. 50% of sperms have no sex chromosome

4 s 200 S Mot DTS Bogemus” 50% Wgems” gohs Eardow el

Question Number : 80 Question Id : 8135612800 Display Question Number : Yes Is Question
Mandatory : No

ELISA

ELISA o

Options :

Requires RBC's
. RBC e9:5%060

Uses compliment mediated cell lvsis
SToD0008 AL SndDED &HAITAFE

Uses radio labeled second antibody
8c.oir GD00h ByBon PABHTU GHAITHT M

Involves addition of substrate which is converted into colored end product

Gl (0 Wod§ DEFdorT™ AT DRF VEDDTT ) SDTD
4. @ = @ o

Physics
SectionId : 81356161
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Section Number : 3
Mandatory or Optional : Mandatory
Number of Questions : 40

Section Marks : 40

Enable Mark as Answered Mark for Review and
Yes
Clear Response:

Question Number : 81 Question Id : 8135612801 Display Question Number : Yes Is Question
Mandatory : No

Which among the following statements is not true?
$06 T°0G" DB 57 PIWT) LBotod.

Options :
Solar power may be future source of power tfor cars
F GRS BIYBIS S7EL YoBD BATW) SDLIINA

Development in medicine may mcrease average life expectancy
D[ CoriadS” 207 0DD)E R £DS T VoD

X-rays were discovered by Roentgen
X-S0£3200/A) T°otSED SR A

Madam curie discovered natural radio activity
a2 ﬁ&.cﬁftﬁ“ﬁégéa‘n Foblatal) SJ"-"SEII SR DA

Question Number : 82 Question Id : 8135612802 Display Question Number : Yes Is Question
Mandatory : No
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A student measured the diameter of a small steel ball using a screw gauge of least count
0.001 em. The main scale reading 1s 5 mm and zero division of the circular scale coincides
with 25 divisions above the reference level. If the screw gauge has a zero error of 0.004 cm.

the correct diameter of the ball 15

28 DeF{D 0.001 em 4002 Eud $DAY 28 A fiad ebarhod w8 DR N wod dwE)
TR 00, 5 )0 Béorh 5 mm mﬂo; SYTTTC )0 AWE) AT
frB% 25 Derrren pd D4adotsody 8. & A ied —0.004 cm o SRS
G 00w, &8 od cos), M6 ORI TR0 Joe:&?u
Options :

0.521 cm

1. %

> % 0.525 em

3 0.529 cm

4 % 0.053 em

Question Number : 83 Question Id : 8135612803 Display Question Number : Yes Is Question
Mandatory : No

. . i 0 i . =7
The displacement of a particle moving along x-axis 1s given by x = 8t 4 18t . The average

acceleration during the interval t; = 2s andt;, =4 s 1s

X — 095300 Dotdd Addae’ GR) WS YY) gwagoaan x=8t2+18t.t; =25
i t, =45 :uc_STS R0 S(dea

Options :

1 % 18 m.s™®

5 % 32 m.s7?
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3 % 20 m.s™2

4 16 m. s2

Question Number : 84 Question Id : 8135612804 Display Question Number : Yes Is Question
Mandatory : No

A cycle tums around a curve at 25 miles per hour. If he tumns at double the speed. the tendency

to overmrm 1s

S 28D otis 25 0¥y riod w8 351 AL BAMATYE. B3R 3¢ o)
Bdband, 8 e Rogr(d 29:9)8008.

Options:
Doubled
ﬁéén'f’q_}

1. ®

Halved
> % DS

Quadrupled

3 v ~Shigh) CéD

Unchanged

4 % ATOC0

Question Number : 85 Question Id : 8135612805 Display Question Number : Yes Is Question
Mandatory : No
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An insect trapped in a circular groove of radius 12 em moves along the groove steadily and

completes 7 revolutions mn 100 seconds. The linear speed of the msect 1s

w8 S0dAw 12 cm m5avgan o SyEs0 med’ 26 sduser TS ertw 100 déwd’
7 3oy 0 Brod. 6 Susan ag), Gab ¢

Options :

1 % 43 em.s™t

5 @ 5.3 em.s™!

3 % 63 cm.s™!

4 % 7.3 em.s 1

Question Number : 86 Question Id : 8135612806 Display Question Number : Yes Is Question
Mandatory : No

A body 1s at rest on the surface of the earth which of the following statements is correct?

B &5080A G 28 S A8y 8 635)8. 2 Sob TS’ D& VPG

Options :
No torce 1s acting on the body
SRV V0D LK DIDAIAAD

Only weight of the body act on 1t

L % T D DY) WEOY) ATSBD DB

Net downward force 1s equal to the net upward force

y 503 8635 nosD, HOS ﬁags &%’ perds HAFHIAD
3.
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Nomne of the statement 1s correct.
. DTS’ DA DTIGTE.

Question Number : 87 Question Id : 8135612807 Display Question Number : Yes Is Question
Mandatory : No

The coefficient of friction " and the angle of friction “A” are related by
;_’x:gea (eso ‘U 200080 ?f..uge; S0 ‘A’ ® m¢5 Motiolo

Options :

1 v tand = p
5 % COSA=p

3 % sind = u

4 % cosp=A4A

Question Number : 88 Question Id : 8135612808 Display Question Number : Yes Is Question
Mandatory : No

If the engine of a train of mass 2.05 X 10° kg requires a duration of 7 minutes for changing

its velocify from 5m.s™ to 25 m.s™ . find the power of the engine.

2.05 X 10° kg @703 $0A% 0 D6 Poad) HATFAEDR WOAN SV T A 7
AFos” 5m.s7! Aot 25 m.s T L 858, LoD &5 PoR a3, &mgﬁm Dosh?

Options :
1 v 146X 10°W
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5 % 205X 105 W
3 % 5X1073 W

4 % 25X 10°W

Question Number : 89 Question Id : 8135612809 Display Question Number : Yes Is Question
Mandatory : No

When a ball of mass 50 g 1s thrown upwards. if raises to a maximum height of 100 m. At what
height 1ts K.E, will be reduced to 70 % ?

50 g GO o SR AT D88 DBTE. 308 100 m B2 VDB, D o
Dg R (182 38 70 % ToR8 eiﬁc;bm?

Options :
1.« 30m

2 % 40m
3.$3 60?71

4.33 ?ﬂm

Question Number : 90 Question Id : 8135612810 Display Question Number : Yes Is Question

Mandatory : No
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In the arrangement shown i the figure. my = 1 kg and

mg =4kg. Assume that the string i light and / 4

inextensible and the pulley 1s smooth. If the coefficient /
of friction between block *4" and the table 15 0.2, the | s

speed of both the blocks when ‘B™ has descended
through a height h=1m is nearly take
(g=10m.s7%)

H0ANS" SPHR 02088° m, = 1 kg 260w my = 4kg. 86 8Dém Frbobeds dew
6 TR, sia:] D) EV) 6. 89 DO B} *A”© D6 0de s 0.2,
B0) ‘B’ Lm I80s BN Bot Bidjo dws) 36, ardor (g=10m.s7%)

Options :

1 4mst

5 % 8 ms™t

3 %0 m.s !

4 % 2 ms !

Question Number : 91 Question Id : 8135612811 Display Question Number : Yes Is Question
Mandatory : No

A body. mitially at rest. starts rotating with a uniform acceleration and covers 1007 rad in the
first 5 seconds, Its angular speed at the end of 5 seconds 1s

P8 T0% BL6raNS Zomn HoER) w8 310 T e 5 2836° 1007 rad
GroR) POIrEeddd. wond 5 8w D56 TP M) SedoD 3¢ dodh?

Options :

" —1
1@ 20w rad.s
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, % 30w rad.s™

3 « 40m rad.s™*

4 % 10w rad.s™*

Question Number : 92 Question Id : 8135612812 Display Question Number : Yes Is Question
Mandatory : No

A particle 1s moving in a circle and is uniformly gaming speed. Match the following physical

quantities;
Column-I Column-II
. . . . dw
(a) Tangental acceleration =
(b) Radial acceleration (1) Constant
(c) Angular acceleration (1) Variable
(d) Angular momenftum () lw

530D BB 18 Enan 3¢ DA DAHED) B, $ob FSE TRV

2oindw.
SER-1 6% -1
(3) #yByo Syomiw o 2
; ' dt
(b) J"ﬁif"&ﬁb &0 (i)  ~daw
n) ®
(c) Eedos Sqoeadn (i) Srd
(d) Sl g Scw ) o
Options :

1% (a—iv),(b—iii),(e—ii), (d—1i)
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5 % (a—iii),(b—iv),(e—1i),(d—ii)
5 v (a—ii), (b—iii),(e—i),(d—iv)

4 » (a—i),(b—ii),(c—iv),(d—iii)

Question Number : 93 Question Id : 8135612813 Display Question Number : Yes Is Question
Mandatory : No

The average energy in one period of a simple harmonic motion is
ROFIPTG) S BURAAL TS, 28 e3:500:90085° VTR #3

Options :
1 g |
— mw-a
1.¢ 2

2

> & mw’a’

3,
— Mo

3 % 2
FLas )

.
4 % 2MwTa

Question Number : 94 Question Id : 8135612814 Display Question Number : Yes Is Question

Mandatory : No
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Three masses 700 g. 500 g and 400 g are suspended at the end of a spring as m

shown. and are n equilibrium, When the 700 g mass 1s removed. the system

oscillates with a period of 3 seconds. When the 500 g mass is also removed. it E‘E
will oscillate with a period of t\?‘
700 g. 500 g ook 400 g GS{T-BO DLAG" LR w8 NYoh ]
aing), D56 Jrebapudad oot e HeHs’ 63)3. 700 g 100 g
@730 S, 550 3 sec LId FLANY’ EoTw Sabudxii)d. 300 gm
500 g $3j0°30 Sree SAY, & 330 EoT368 S0 dod? 400 gm
Options :

1 % ls

2. Hf 2 Y

3 % 3s

/12
P
4 8N ?°

Question Number : 95 Question Id : 8135612815 Display Question Number : Yes Is Question
Mandatory : No

A wire breaks if stretched by more than [. It 15 now cut mfo two equal parts. then each part can be
stretched without breaking by:

[ T 577) A8 FANDS & BTS006. BY\E TR Toth GrrevT DFE),
29 i 8A0°0e FAAaAYE Devs Jod?

Options:
1 % 1
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Question Number : 96 Question Id : 8135612816 Display Question Number : Yes Is Question
Mandatory : No

The cylindrical tube of a spray pump. having 30 holes each of diameter 1 mm. has a cross-
section of 6 cm?. If the liquid flow inside the tube is 1.2 m per nunute, then the speed of

ejection of the liquid through the spray holes 1s

w8 ) Dok dwE) ArIE0 T 6 om” w8 JTougin Hbakn 2,848 Lmm
Ti0 590 30 dogidwnm DA &) 6. T &0 godw I 12m Sed
DTV, CoTrw Aot LIOLS) K)ﬁamé BE @do A8 o

Options :

8

R
1. %

1

— L
3. OF

E m.s
4, ®
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Question Number : 97 Question Id : 8135612817 Display Question Number : Yes Is Question
Mandatory : No

A wind with a speed 40 m.s™ blows parallel to the roof of a house. Area of the roof is
250 m®. Assuming that the pressure inside the house is atmospheric pressure, the force exerted

by the wind on the roof and direction of the force will be (pyy=12kg. m™?)

08 P $yD B0t 40 m.s ™ 338 ™D Diod.  giyyy DL 250 m’.
ot) 600 DEBD TEI0R HETE VAT GErD, P Sy e D 38
DArAotica wehn bk Lwdw aos), 63 (P =12kg. m™3)

Options :

4.8 x 10° N, downwards
1 % 4.8 x 10° N, So&8

4.8 x 10° N, upwards

L 48X 10° N, 23

2.4 x 10° N, upwards

an5 =
L o 24X 10°N, p8

2.4 x 10° N, downwards
4 % 24X 10°N, 8008

Question Number : 98 Question Id : 8135612818 Display Question Number : Yes Is Question
Mandatory : No

When the temperature of a body 1s ncreased from 27 °C fo 127 °C. the radiation emitted by 1t
mcreases by a factor of

W8 ) cﬁn&‘.g} agge:a 27 °C Ao6 127 °C & Dotdd, Tra Aot Je0SE JS680 QD;L [el3V
2dHa?
Options :
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256
1.v 81

15

12

Question Number : 99 Question Id : 8135612819 Display Question Number : Yes Is Question
Mandatory : No

A metal rod of length L and cross-sectional area 4 is heated through T °C. What 1s the force

required to prevent the expansion of rod lengthwise?

w8 &' sg; T L 2080 206316 2FoEsm A. ord s T °C 58Ade 3
§70. 8¢ Tep© s TET) oS BsV62A] LD

Options :

YAaT
1 = (1—aT)

YAaT

(1—aT)
3 « YAaT

(1+aT)
4 % YAaT
AP EAPCET 2021
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Question Number : 100 Question Id : 8135612820 Display Question Number : Yes Is Question
Mandatory : No

Agsume that you have an ideal gas for which y = 1.50. mutially at 1.0 atm pressure. When the
gas 15 compressed to half its original volume, then the final pressure. if the compression is

1sothermal. 1s

1.0 atm Hédaw 36 0BT ¢ = 150 63) 28 866, TN GarodE i,
TaPR T Ja RDBATEIS DAL dArE RoatidA0 BodD), i B0B
HEH3D

Options :
1 = +0atm
5 % 2.8 atm

3 2.0 atm

4 = 6.0atm

Question Number : 101 Question Id : 8135612821 Display Question Number : Yes Is Question
Mandatory : No
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Match the following?

Column-I Column-II
(a) Isothermal process (1)  No heat exchange
(b) Adiabatic process (1) Constant temperature
(¢) Isochore process (i) Constant pressure
(d) Isobaric process (iv) Constant volume

$08 TR wdHGHec?
SER-1 6 -II

(@) »ardde dioo () &0 DDA Gokchd
(b) %&“gs a8ab (1) egrj@ ;’:‘gcﬁ;m
(€) & DdHBArEH HIAL (i) DA D60
(d) % oed Hdab (iv)  D0d%BrEm0 H020

Options :
1 % (a—iv),(b—ii),(e—1i),(d —iii)

5 % (a—iv),(b—i),(e—ii),(d—iii)
3 % (a—il),(b—iii),(c—iv),(d—1i)

4 v (a—ii),(b—1i),(c—iv),(d—iii)

Question Number : 102 Question Id : 8135612822 Display Question Number : Yes Is Question
Mandatory : No
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Anideal gas heat engine operates in Camot cycle between 227 °C and 127 °C. It absorbs 6 X 10* cal

at the higher temperature. the amount of Leat converted mto work 15 equal to:

5"5'5‘1 tig0d’ 127 °C oot 227 °C S0 £36901008000% &2 chodd O BRORY B, ©hs
eﬂ;ﬁ 6 6 X 10* cal 0 TOINYA § 0. HAT ;ﬁrﬁ‘)c:":)é oo ANdA 62000 ©IR020?

Options :
1 % 4x10%cal

5 % 3.5 X 10% cal
3 % 1.6 x 10* cal

4 v 12%10* cal

Question Number : 103 Question Id : 8135612823 Display Question Number : Yes Is Question
Mandatory : No

A vessel confains fwo non-reactive gasses Neon (monoatomic) and Oxygen (diatomic). If the ratio

of their partial pressure 1s 3 ¢ 2. then the ratio of number of molecules of neon and oxygen is

w8 g’ wig%m G Aoird (D8 DoArews) Sodahy B3 (B DeSrms) TohuHw
&) 0. T8 aws), &8 DT @ 3 2. eenHo o A0S WG

Options:
3

1.4 2

2
2. % 3

wlr-a
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NlH

Question Number : 104 Question Id : 8135612824 Display Question Number : Yes Is Question
Mandatory : No

when a sound wave 1s reflected from the boundary of a denser medim. the compression of the

meident wave 1s refurned as:
2% Fo@d0 0irds E‘a&a’s"%ij ag w8 q’aS.?) 60w HUmHGH8N BodS, DA Sboridw cﬁ.uﬁzI
QoG DI, SBHNE D7

Options :
Crest

_— oo

Trough
2 » 89

Comipression
3 v RoDEDID

Rarefaction
4 % DOVSCEID

Question Number : 105 Question Id : 8135612825 Display Question Number : Yes Is Question
Mandatory : No
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An observer looks at a distant tree of height 10 m with a felescope of magnifying power of 20.

To the observer the tree appears :

ﬂng) &m%&m 20 $9AD 28 d)"d{&&‘;\aﬂ EDErRoD, 8 HOTVLE ErdanT ER‘JA 28
10m B0 &) BN ErFd. wowd, &8 B HBFVDHAS Jor SAVERY?
Options :

10 times taller

| % 100&0 Teprr

10 tumnes nearer
10 Sen &adrre
2. % =

20 tumnes taller

5 x 20 880 FaH

20 tumes nearer
20 Bt &hoT™
4. v =

Question Number : 106 Question Id : 8135612826 Display Question Number : Yes Is Question
Mandatory : No

A screen 1s placed 50 cm from a single shit which 1s dluminated with light of wavelength
600 nm. If the distance between the first and third minima 18 the diffraction pattern is 3 mm.
the width of the slif 1s.

D5 OB Aooct 50 cm BrGAS" w8 B otrAw. B\ 600 nm Sooriggin do
038 D5-Ed0850 B, DI PSS 20c 2Bk Surcd STV A GPOAD
3 mm and, 094 Dy dod?

Options :

| % 1x107"m
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5 v 2X107%m

;% 05X 107 m

4 % AX 107*m

Question Number : 107 Question Id : 8135612827 Display Question Number : Yes Is Question
Mandatory : No

The electric field strength due to a 10 uC point charge. at a distance of 50 cm fromi it, is

10 4C Dot 38 Avod 50 em Ardwe” I6\E oS £6 S5

Options :
1 v 36x10° N.C7H

5 % 1.8%x10° N.C!
3 % 7.2%10° N.C™*

4 % 7.2%x10* N.cT!

Question Number : 108 Question Id : 8135612828 Display Question Number : Yes Is Question
Mandatory : No

Two spheres of unequal radii are supplied with equal quantity of charges. The potential will

BRATR m&&%ﬁnw f{e) Doty Ao HAFH H8ArmAS &) udTw faéSaadRJEJ.
ey TO006
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Options:
be more on the bigger sphere

26 B ST D8I S0t
1. % @

be more on the smaller sphere.

D&y Fgan £ QLY D Eotdd
5 Al o fo &0

be equal on both the spheres.
3 % 006 HeroeS” DA Gododd

depend on the nature of the material of the spheres.

Fvre clg), DEE DETHDA0RD BEEEIC, G0t
4, % “

Question Number : 109 Question Id : 8135612829 Display Question Number : Yes Is Question
Mandatory : No

In the circwit shown below, the current [; 15 1A 20

D008 BPIR HVOHANY” DENS DTN [) Jews I,/

Options :
1. % L6A

, »184

;% 124
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4% 10A

Question Number : 110 Question Id : 8135612830 Display Question Number : Yes Is Question

Mandatory : No

A charged particle having charge 2C is thrown with velocity 2 | 4 3 | mside a region having

—+

F =2 and magnstic field 5 &. The initial Lorentz force acting on the particle is

E=2] Doy g, 5 k 0o o 80 $DAS a8 630 thor 2C 8dT)
27 +3] drand DH08, & 6538 Sniw N6 HIBD §9 oted Lo Jod?

Options :
L »300i-16]
, x 161 +30]

,x 1571 +8]

4% 300 +16]

Question Number : 111 Question Id : 8135612831 Display Question Number : Yes Is Question

Mandatory : No
A 100 turns coil shown in figure carries a current of 2 4 in a magnetic field B = 0.2 Wh.m™2.

The torque acting on the coil 1s

A B
1
DLAE” BrOD Do 100 o $90D w8 & oty lu é
N RS 5
2 4 Desofd % $8A, 0.2 Wh.m™2 $DAS et o8 T
§8508" Gotd wADHA. Land & 3r wip 1 Bt &r6), T
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Options:
0.32 N.m tending to rotate the side AD out of the page

| AD 2027y dwdw Aol IO 82y 032 N.m &rf),

0.32 N.m tending to rotate the side AD into the page
. AD 2020y S50 od, S5°HH 82y 0.32 N.m &),

0.0032 N.m tending to rotate the side AD out of the page

3 % AD aﬁaaﬂbﬁl SBOAL Aok LR e‘:éi::;j 0.0032N.m &.}“533

0.0032 N.m tending to rotate the side AD mto the page

AD abzs**ﬂ:l SO Aol S5 HVD 933:3 0.0032 N.m E:P5Ej
4, %

Question Number : 112 Question Id : 8135612832 Display Question Number : Yes Is Question
Mandatory : No

What is the current in a straight wire. if a magnetic field of 107 W.m™ is produced at a

distance of 2 em from 1t?

DG DI S Aodt 2 em ArBANG” 1070 W.m™" oo 08 £330 20828, &
&' AAAS DT L0 dod?

Options :

1. ¢ 0.1A4
> % 024
3 % 054

4% 044
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Question Number : 113 Question Id : 8135612833 Display Question Number : Yes Is Question
Mandatory : No

Find the equivalent inductance befween 4

and B i the given circuit,
4H

265 00 20880 Dod? A ———m——T0— 8

Options :
1.« 1H

3 « 0.8H

4% 16H

Question Number : 114 Question Id : 8135612834 Display Question Number : Yes Is Question
Mandatory : No
Equivalent inductance of two inductors is 2.4 H when connected in parallel and 10 H when

connectad 1n series. what 1s the value of inductance of the mdividual inductors?

B0t 05w PATeddaT $908 T8 D Dose 2.4 H ubodw 338" 5958 10 H.
DEE O5°L VS, DOES S dod?

Options:
1 % 8H & 2H

2 ¥ 6H & 4H
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; « 5H & 5H

ox 7H & 3H

Question Number : 115 Question Id : 8135612835 Display Question Number : Yes Is Question
Mandatory : No

The figure shows an LCR network connected toa 300V
AC supply. The circuit elements are such that R = X; =

X = 10 Q. Three voltmeters V,, V, and V; are connected V, v, V,
as shown, Which of the following represents the correct () {2\ O_
: T E - T § U U
set of readings of the voltmeters”
o mim Il_
300V AC 25508 £05% LCR S0 Hawe” ~ C
ST, Vy, V; $08os V; 0 Swobns” Seodoei, o/
300V
R=1X, =X =100 &) 00, S¢S
0% 3652006 Bcohren
Options :
% Vi=100V, V; =100V, V; =100V

, x VL=250V, V=0V , V3=150V
L« Vi=300V, V;=100V, V; =100V

4.+ Vi=300V, V, =300V, V=300V

Question Number : 116 Question Id : 8135612836 Display Question Number : Yes Is Question
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Mandatory : No

The correct relation among the following 1s

208 T°0S° DBTDAB VBT

Options :

By

g e
1.w\f Fo

Question Number : 117 Question Id : 8135612837 Display Question Number : Yes Is Question
Mandatory : No

A photon of frequency ‘v’ has a momentum associated with it, If *¢” is the velocity of light

then momentum 1s

3“:33*‘.,1).‘«‘)1531) V' o Ferd & eoeoBotndd @] 1w dod? (¢’ @36 5°0d Sfo)

Options :
hv

1.% €?

5 % hve
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4. C

Question Number : 118 Question Id : 8135612838 Display Question Number : Yes Is Question
Mandatory : No

A hydrogen atom 1s in an excited state of principal quanfum number (r). It emits a photon of

wavelength A when 1t returns to the ground state. the value of 'n’ 1s

S TEAS DOAFMY) DI o) Do (1) $DA% ¢ adad f‘g@ﬁ“ &%) 6. vl 88h
mg"mé ANV NAL L Q_clﬁ%;ﬁn ) 0 Terdod errdorhad. wond ' aing) Jud ___

Options :
AR

1 % AR+1
AR—1

5 % AR

_ A(R—1)
AR

4 AR—1

Question Number : 119 Question Id : 8135612839 Display Question Number : Yes Is Question
Mandatory : No

The dominant contribution fo current comes from holes in case of
&S00 D DEEANVS” Go@ANY JVD VAS AYS DIFAW SLDA?
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Options:
Metals
&5 e

Intrmsic semiconductor
'5::53;';33& wgaﬂ;‘rsm

p-type extrinsic semiconductor

P 0SD0 REIPH0R 0T IS0
3. v 2

n-type extrinsic semiconductor
n dsaw e:r’:c_gepﬂ;jae. agav::nsan

Question Number : 120 Question Id : 8135612840 Display Question Number : Yes Is Question
Mandatory : No

The increase in the height of the tower of height 200 m to get its range tripled is
200 m 80 (o LHE CS), $308 T L & Tothtrd$ 056 ag) I

Options :
1 % 800 m

5 « 1600 m
3 % 900 m

4 % 700 m
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Chemistry
Section Id : 81356162
Section Number : 4
Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks : 40

Enable Mark as Answered Mark for Review and

Yes
Clear Response:

Question Number : 121 Question Id : 8135612841 Display Question Number : Yes Is Question
Mandatory : No

What would be the wavelength of the spectral line in Balmer series of the spectrum. having the

longest wavelength? Given Ry = 109677 cm™

6 3¢ He) FeS° BBE SGerREA v B DO Nt (Ry = 109677 cm ™)
B ) =3 ARR

Options :
| 5560 A

5 « 6560 A
5 % 5460 A
4 % 5660 A

Question Number : 122 Question Id : 8135612842 Display Question Number : Yes Is Question
Mandatory : No
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The value of Planck’s constant in electron volts (eV) 1s

o8 fgu'*ast Ded JVTD ng.’i‘

Options :
1 % 414x10°°7

, o 414X 1071
3 % 041x107%°

4 % 663 x 107

Question Number : 123 Question Id : 8135612843 Display Question Number : Yes Is Question
Mandatory : No

If it is known that an electron is revolving around the nucleus at a speed of 0.95 km.s~*. with
an accuracy of 0.02%. then find its position. Given mass of the electron is 9.1 X 107! kg and
h=66%10"%*kg.mb.s™

0.02% D\3eod Soggo ot 2,8 JuFD 0.95 km.s™* Sriod HOFMWBYE T
.gva»:)l dodd NS08 eosTrRabIN? ( WFS G 9.1 X 1073 kg SoBeso h =
6.6 X107 * kg.m%s71)

Options :
1 % 0.304 m
5 3.04Xx107* m

3 % 304x107% m

4. % 304 m
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Question Number : 124 Question Id : 8135612844 Display Question Number : Yes Is Question
Mandatory : No

An element X belongs to 4% period & 15" group of the periodic table. Which one of the

following 1s true regarding order electronic configuration of X. It has

3208 E’JQSE‘S& WEarusan X, 49 HBORE Sobok 153 (i 8 Dok, ¥ ) 033.‘:52]
P DU ba“gé:nnmueg $oBT8" 28 DuAn? TS’ &0t

Options :
Partially filled d-orbatals & completely filled s-orbital
F £ S50 Dold d-HBQEJ“%D S0bcin Yo Dot S-Hﬁaﬂ“%‘)

completely filled s-orbital & completely filled p-orbitals
PO Dol $-e30, 70, SoBoi Yo oG p-e30, %,

completely filled s-orbital & halt-filled p-orbitals

BT Dol 5-58,%0,) 2080 FESI0MT ol P-es0, T,
3.¢

half-filled d-orbitals & completely filled s-orbital
DA Docid d-es8, ey BOK PO Do 5-e30,77¢0,

Question Number : 125 Question Id : 8135612845 Display Question Number : Yes Is Question

Mandatory : No
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The formation of an oxide 1on from Oxygen atom takes place as shown below. This fwo-step
process is unfavourable, even though 0% is iso-electronic with Neon. due to the fact that

O +e — O ; AH' =—141kI.mol™
0 te — 0 ; AH =+780 kl.mol™

5818 DOATEY Aot BFE BAITD & §ob Defor™ AG\E?

Og+e — 0y ; AH =-141kT.mol™
=2 _ 2_ . a _ |
0 +e— 0y AH; =+780 k.mol

Dodrd HeATENE 07 waird ‘oY dusds' 003N BS, D Bow Bode SO &8s
FY0 P5°0o BRVSFVo SN, oIV BT

Options :
Addition of electron in oxvgen results in larger size of the 1on.

EERS) DEATFENHS VTR BOTT Dd_}m OIS HATme (RDer) DM
1. % =2

Electron repulsion out-weighs the stability gained by achieving noble gas configuration.
&8),HR TPa80 33:!“5';0-:: SO St fgﬁ@s:: 508, AUV D06 .?Jsgea 2D S ST

S v &ot, ﬂsgm ‘Qdm&.ﬁl (STl AR

Oxygen is more electro negative.

- uébaﬁgj QQJEI::) 22062 aca:vaaésa &) B

0 1ion has comparatively smaller size than oxygen atom.

4% 0 208D, e33R DOATEVY) Sof B8y S DOSTee SN Goco

Question Number : 126 Question Id : 8135612846 Display Question Number : Yes Is Question
Mandatory : No

The correct order of decreasing first 1011zation 1s

DS VoHASEES B3SOw S S VO S0
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Options:
1 % C >B >Be>1Li

5 v C>Be>B>Li
3 x B>C>Be>Li

4w Be=Li>B>C

Question Number : 127 Question Id : 8135612847 Display Question Number : Yes Is Question
Mandatory : No

In the given electron dot structure. the formal charge on each

nitrogen atom (respectively) from left to right is 'N' N 'N'
D008 Brd UFR Doc) 08" AW Boot) LIPS oo oo
0 RS DOATFMHVD LS BIT AR

Options:
1% +1, 0, +1

5 » =, H,
3. ® Ur _11' 0

4. % ¥+, =1, +1

Question Number : 128 Question Id : 8135612848 Display Question Number : Yes Is Question
Mandatory : No
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Arrange the following ions in the correct order of X — 0 bond order. where “X™ denotes the

central atom.

"X Sog DEAFEHA AP, Sod "coﬁJé"a‘;J“Um T8 X — 0 20688370 209 §a008°
B0 0.

Options :

.« Si0)” < 50, < PO;” < ClO]

v Sio;” < PO, < S0, < Clo;

, « ClOy < S0;” < PO,” < Si0;”

Rgaa 3— 2— o
4w clo, < PO, < S0, < Si0,

Question Number : 129 Question Id : 8135612849 Display Question Number : Yes Is Question
Mandatory : No
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Match the following molecule with the hvbridization of the central atom and its corresponding

shape?
Molecule Hybridization Geometry
(a) BCly i) sp? (p) distorted octahedron
(b) BrCl (i) sp? (q) Pyramidal
(c) NH; (i) sp’d (r) Trigonal Planar
(d) XeF, (iv) spid? (s) T-shaped

Sotd U\ LU T8 Sod HOITEY) AWE), RosESCee 0OA BV WS

eg008 2atodan?
) 2086860 5,0
(a) BCly i) sp® (p) ddreso BodD wgmﬁma
(b) BrCl, (i) sp? (q) (5o
(c) NH, (i) sp’d (1) %dosw SEcloty
(d) XeF, (Iv) spid? (s) T-e98y&
Options :

, x (a—iii—r), (b—ii—p), (e—i—q), (d—iv—s)

z.y(a—ii—rj, (b—iii—s), (c—i—q), (d—iv—p)

3 % (ﬂ_j?—sjl (b_l_rjl (E_Il_p_}, (d—]]i—q)

4. % (a—i—p), (b—iv—s), (e—ii—q), (d—iii—1r)

Question Number : 130 Question Id : 8135612850 Display Question Number : Yes Is Question
Mandatory : No
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Given the critical temperature and critical pressure of C0, gas are 30 °C and 72 atm
respectively. find the approximate values of Van der Waals constants ‘a’ (in [*. atm.mol ™)
and ‘b’ (in L.mol™1).

0, aras0s 638, 0B e 30801 Do i Dewiden AN 30 °C 5080k
72 atm ©o0d Told T ?&)U“u?ga ‘a’ (L2 atm.mol™%) &o8aw *b" (in L.mol™)

DenHen SERr

Options :
1 % @ =0.36 & b =0.0821

> % a=36 & b=0.043

3¢ 2=36 & b = 0.043

4 % =036 & b = 0.043

Question Number : 131 Question Id : 8135612851 Display Question Number : Yes Is Question
Mandatory : No

At constant temperature. when a bulb *A" of volume 150 mL containing an ideal gas was
connected to another evacuated bulb *B’. the pressure fell down by 40% of bulb A’ mitial

pressure, Then, find the volume of bulb B.

itgcs &8 56 28 BE6TEDRL $BA3. 150 mL WIBAT0 f0 wedy A’ . a9
dabeg 28 vy ‘B’ & Lo & By g, o ey 4" gy, &9 $¢0 2ot
40% as%brr’ &alﬁ. 290N, 2R, ‘B’ obos), DAL8aTR0

Options :

> = 150ml
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3 » 100m!

4 % 125 ml

Question Number : 132 Question Id : 8135612852 Display Question Number : Yes Is Question
Mandatory : No

Calculate the mole fraction of CH30H 1 5 molal aqueous solution of CH;0H.

5 arere) CH,0H 20 monaw & CH;0H a5 erdaw

Options:
1. ¢ 0.082

3 % 0.16

4. % 0.5

Question Number : 133 Question Id : 8135612853 Display Question Number : Yes Is Question
Mandatory : No

6.0 litres of a gaseous mixture containing propane and butane on complete combustion at 25 °C

produced 20 litres of €0, Then the composition of the given mixture is

25°C 96 6.0 &Jeag D Aodosn wéeﬁ TPOSNNLY ( 28 TN ﬁ:gar:)l Qror
Girdo Robotie 20 @mg C0, DeICHE. BoNN. &8 T05 dFe Hoakido

Options :
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Propane-5L & Butane-1L
- THI-5L & e0{e59- 1 L

Propane- 1L & Butane-51L
- THI-1L & e0(E3D- 5 L

Propane-4 L & Butane-2L
_— Tod-4L & (8- 2 L

Propane-2 L & DButane-41L
. THd-2L & B0(E- 4 L

Question Number : 134 Question Id : 8135612854 Display Question Number : Yes Is Question
Mandatory : No

When a gas 15 allowed to expand in a well-msulated container. against a constant external
pressure of 5 atm, from an mitial value of 10 L to a final volume of 15 L. find the change in

the internal energy (AU) of the gas,

2564007 A0d) QPO H06Soistacad F6oz 20RO 10 L FIE0R) a8
TA30PA, 5 atm Ed E.FB’J"}S RIAE RN &‘)5933501‘1" 29080 WDBSr0 15 L ;‘J::na 208
:.1"5? QoS . & HSNY” &8 Ta0Y BoddS 386’ Arddy AU Jensd

Options:
1. & —2:5 kI

5 % —25 kI
5« +15 k]

4 % —10kJ
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Question Number : 135 Question Id : 8135612855 Display Question Number : Yes Is Question
Mandatory : No

A solution 1s prepared by dissolving 2 g of NaOH in one litre water. Find the pH of this
solution. assuming complete ionization. [K,, for water = 1 x 10°** ]

28 Dy DS’ 2 g © NaOH 2 58fow) 25 rdmrd) Soirdh d7d. & Tdme Jrdm
0G0 BoBodD) ol ) pH Atderidan. [K, = 1 x 107 ]

Options :
1 % 11.3010

, » 12,6021
5« 12,6990

4 % 10.3010

Question Number : 136 Question Id : 8135612856 Display Question Number : Yes Is Question
Mandatory : No

For the reaction

Hyg) + €055y = €Oy + Hy 04, if the mitial concentration of [H,] = [CO,] and x moles/

L ot H, 1s consumed at equilibrium. the correct expression of Kp 15

Hyg) +COyg) 2 COy + Hy0y), 868" 6o med [Hy] = [C0,] S00so tocoe 198
36 x are/L Dandand, Kp & odasvidain 25 Hahednin

Options :

xz

—x)2

1.v @
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(1+x)?
, % (-2

Question Number : 137 Question Id : 8135612857 Display Question Number : Yes Is Question
Mandatory : No

Which among the following pairs of substrates on reaction. does not evolve hydrogen gas.

Brbdd DIGER D BBE” Saradsdn TEBS To0A DG BoHTE?

Options:
dil. HNOz
Mg ———— products
romes HIN Oz
Mg —— &&\T)w
1. %
Ha0 (g
Fe ——  products
H,0 (=)
Fe —— &d\J e
2. %
H2504
Fe =y products
H2504 jues)
- Fe » GO0
dil. HC
Cu — products
ae HOI
4 Cu GO\ T) 0
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Question Number : 138 Question Id : 8135612858 Display Question Number : Yes Is Question
Mandatory : No

Beryllium fluoride can be prepared from the decomposition of

DA AW S0P H8dahay J'86L salrddabrobw

Options :
1@ (NH4}ZBEF4

, » (NH,),BeF,
.« (NH3),BeF,

4. 5% (NH3)4BEF2

Question Number : 139 Question Id : 8135612859 Display Question Number : Yes Is Question
Mandatory : No

The type of hybridization of Boron in diborane is
eI’ 50U dwg), VosdsCraw

Options :
1. % SP

2 % -5'}'5'2

3. v 5P3
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4 = sP7d

Question Number : 140 Question Id : 8135612860 Display Question Number : Yes Is Question
Mandatory : No

The hybnidizations of "C” and *0” in CO and CO, respectively are:
CO, CO, 05" *C’ 2dadn “0° aa0s); 2o8b56rA0e0 ST

Options :
; « CO: C=sp O=sp & CO;: C=sp® O =sp’

, » CO: C=sp QO =sp?* & CO,: C=5sp O=5p*

;0 C0: C=sp O=sp & COp: C=sp 0 = sp?

4w CO: C=sp®> O=sp® & CO,: C=sp O=sp

Question Number : 141 Question Id : 8135612861 Display Question Number : Yes Is Question
Mandatory : No

Which among the following acts as a sink for CO?

CO 25 DoSIT HDABHS D rdoldd JeeS” 67

Options :
Oceans
1 % POVETD

Rivers and Lakes

5 % RO QB0i0 Bl
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Tree Barks

e 386D
3.% =

Micro-organisms in soil

Swes” e 3 &
Ly ) D APE) BYPeD

Question Number : 142 Question Id : 8135612862 Display Question Number : Yes Is Question
Mandatory : No

Which of the tollowing has a chural *C” ?
SoB DA VT VS FoS-C' S0d A7

Options :
1 % CH,I — CH>I

, « CH;CH,C

5 % (CH3);CFCl

4 o CHCH(CD(D)

Question Number : 143 Question Id : 8135612863 Display Question Number : Yes Is Question
Mandatory : No

The blood red color of sulfur containing organic compound of Lassaigne’s extract 1s due to the

tormation of

SUNG $OA S “@&Jémm a0g), TS garaian a8, 2088" 38 A2 Borb)
50830 demea

Options :
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.« [Fe(cn) NOS]™

5 % PbS
5 v [Fe(SCN)T™

4 % Nas

Question Number : 144 Question Id : 8135612864 Display Question Number : Yes Is Question
Mandatory : No

If the radii of Na't and CI™ ions are 95 pm and 181 pm respectively. then the edge length of a

NaCl unit cell 1

Na* 8ot Cl™ eoirs a‘}gﬂ“g"&n Sdoare 95 pm Sodatw 181 pm. NaCl oordeS 2
008}, Bothd Tt

Options :
% 276 pm

1
> % 135 pm

3 ¢ 552 pm

4 % 5 pm

Question Number : 145 Question Id : 8135612865 Display Question Number : Yes Is Question
Mandatory : No
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Ifa 6.5 M solution of KOH in water contains 30 % by mass of KOH. then find the density of

given solution. (Atomic masses: K - 39.0 - 16.H = 1)

w8 6.5 M 2omrdne. arod)gom 30 % KOH & g0 Gy bowd. & Trdmo g, Fogd
(e2g20 gopordoen: K - 39.0 - 16.H - 1)

Options :

1 % 2.86 g.ml!

, % 3.52 g.mi™?

3 121 g.ml™!

4 % 245 g.ml™t

Question Number : 146 Question Id : 8135612866 Display Question Number : Yes Is Question
Mandatory : No

At 104.2 °C. the vapour pressure of a solution of 7.5 g of a solute in 100 g of water is 740 mm of
Hg and K, = 0.55. then the boiling point of the solution 15

104.2°C 36 100 g 0 A6" 75 g © 28 TITD) S8 SareoiSivi gme A, ey o
740 mm Hg wow, 2dakw & Kj = (.55 wowd. & gramo aws), b &gﬁg@

Options:
1.« 373.80 K

5 % 157.23 K

5 % 100.54 K
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4 % 27345 K

Question Number : 147 Question Id : 8135612867 Display Question Number : Yes Is Question
Mandatory : No

The standard e.n.f of a Dantel cell is 1.15 V. Given F = 96500 C.mol ™", find the value of

AG for the following cell reaction. Zn, . + Cu’™ ——— Zn’" +Cu
) (5) (ag (ag) (5]

)
G0Le) ke 0S), D emf 115V, F = 96500 C.mol ™" eand $ob 208 RIS AG

5 24 24
20D Dot an + Cu el T Zn ) + Cu{m

Options :

| % T221.95 Lmol™

5 % —11045 T.mal™?

o TS, 55
3 22195 kJ. mol

4 % +2.219 klmol™

Question Number : 148 Question Id : 8135612868 Display Question Number : Yes Is Question
Mandatory : No

The potential of a hydrogen electrode which is immersed in a solution of pH = 8 15

approximately
pH = B (0 gromans” snedd TEad JUEE dwg) TOJohe (Jewed’)

Options :
1. ¢ —0.472
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, « —0.0591
5« —0.591
4.% 0

Question Number : 149 Question Id : 8135612869 Display Question Number : Yes Is Question
Mandatory : No

Which expression among the following is correct for a zero-order reaction and a first order

reaction respectively? Here “a’ denotes the nitial concentration of reactant.

309 §37708 0Bk DA S0 BE[UE dowoldow) Sodd aﬁs&ﬂa THE° B HTNG?
(a oz )

Options:
r oa::t oL—
- 1/2 /2 & 4
: 0
2.~'«’*’t1f2xﬂ : rmrxa
0
3 % rmaca I'.UEDC-:I
1
t,,,xa .t ol ——=-
4 % 1/2 1/2 ™ g2

Question Number : 150 Question Id : 8135612870 Display Question Number : Yes Is Question
Mandatory : No
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In Freundlich adsorption 1sotherm the value of = 15

& 1
oot udT L, ﬁ:ﬁr%ﬁ@@“ L — Dend
n

Options :

== 1 for physical absorption

1
— = 1 TS AT ILADDL
2 % I

— = 1 for chemisorption
n

1
;ﬁzld&ﬁﬁﬁé@&?ﬁﬂﬁﬂé&

Question Number : 151 Question Id : 8135612871 Display Question Number : Yes Is Question
Mandatory : No

Which molecule among the following has the highest dipole moment?
Zod Arton)d esnHweS” AJS OH(DS BLED PNSo &I B?

Options :
1 % BiH,

, % SbH;
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Question Number : 152 Question Id : 8135612872 Display Question Number : Yes Is Question
Mandatory : No

Arrange the oxides of group-15 elements in decreasing order of their acidity:
(r 15 rUse B5G VA BB e_‘eﬁ g020065° €9:3000 00

Options:
1. % PEDE - N?_GE - ASzoa = SbEOE = Bi205

2 % BI‘EDS = SbZOE == ASZDS = PEGE - NEOE

o o N205 > P05 > As,05 > Sb,05 > Bi, 05

4 % NEUE - EIIEOE = PEGE e ASEDE - SbZGE

Question Number : 153 Question Id : 8135612873 Display Question Number : Yes Is Question
Mandatory : No
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Match the following?

S0 T°AR 2SBONAD?

Oxidation state of Xe
Reaction in product
DL &) &' Xe
98800 DO
@
(a) XeF; +3 H,0 — (1) +6
_ warm 4
(b) XeF, + (excess) Xe ———— (1) 0
(c) XeF; +8NH; — (111) 42

Options:
L w C(a—iii), (b—i),(c—ii)

5, (@a—i),(b—ii),(c—iii)

3 ¥ (a—i),(b—iii),(c—1ii)

4w (a—iii), (b—ii),(e—i)

Question Number : 154 Question Id : 8135612874 Display Question Number : Yes Is Question
Mandatory : No

The most stable complex among the following is
S08 DoSh NIV VS” ediod RO

Options :
|« [Fe(H0)6]**
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2 % [FE‘[NH3)¢;]3+
3 [Fe(C,0,)51°"

4« [Fe(CD*

Question Number : 155 Question Id : 8135612875 Display Question Number : Yes Is Question
Mandatory : No

The electronic configuration of a transition element X in +3 state is [Ar]3d°®. Its atomic

number 1s

+3 e.eé;)sdea ?g@-a‘)“ (R 28 DBHGD ArVEAD VTR Da'ﬁ:aan [4r]3d®. &5 Awresan
cﬂnSg_T P6To 2u bor ) ’:ooa}?g

Options :
1. % 26

2. % 24

3. v 27

4 % 28

Question Number : 156 Question Id : 8135612876 Display Question Number : Yes Is Question
Mandatory : No

Reacting glucose with HI with prolonged heating gives

GrE& &0 HI & 00 5y 5 2005000 & B/ ANV

Options :
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1- Hexanol
1- ::usﬁes

2- Hexanol
2 :305:3595

1, 3- Hexanediol
1,3- 23“§35 Gaire

n- Hexane

4V ?I-:J'“g:]ca

Question Number : 157 Question Id : 8135612877 Display Question Number : Yes Is Question
Mandatory : No

The major product (R) of the following reaction sequence 1s

& &S 1‘565?.} g20:50085° DI &dRA Q0 R

230 o) BalER
Pl; KCN Hydrolysis
(linear alcohol) Ha 07,4
(00 e )
Options:
CO;H

|
. % CH3CH,CHCH,
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CHj
H3C—(|I—COEH
2 % [|:|-13
H;C
CH—CH,CO,H
3. % H3C

, » CHsCH,CH,CH,CO5H

Question Number : 158 Question Id : 8135612878 Display Question Number : Yes Is Question
Mandatory : No

Identify the product of the following reaction.

& 806 wWoS" DONE GBS0 DB?

0 “H.
a8 (1) C;H;MgBr S 9
H,C—CHy  Giyn0t

Options :
1. % CH':!_[:HZ_CHz_UH

5> « CH3—CH;—CH,—CH,—OH

/N

3 %® I"lz(_._{_.l'i_ Czl'lg,,
/O\ Q@ @

4 % HaC—CH—CH, MgBr
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Question Number : 159 Question Id : 8135612879 Display Question Number : Yes Is Question
Mandatory : No

The molecular formula of the final product of the following reaction sequence 1s

Bridad o AFTY S0 Da:)c:; 080 &) &

i) KMnO,4, KOH, A

CH,4 i) Hy0*
: > 7

lii) LiAlH,

iv) H,0
Options :
1 % C7HgO
2 C;HgO
5 % CgHyo0
4 % CgHgO

Question Number : 160 Question Id : 8135612880 Display Question Number : Yes Is Question
Mandatory : No
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Chloral having molecular formula C5Cl;0H gives red precipitate with Fehling's reagent.
Chloral on reacting with cone. NaOH form sodium trichloro acetate and another compound X

chloral on reacting with chlorobenzene in the presence of cone. H,S0, to form compound Y.
The structure TUPAC names of X and Y will be

e FAer (CL0H o §0°8 Dowdofl Framind’ dhborh ©IFDAR 0.
S0 e NaOH & w6 éabo S5 D85 8ot X d 286 vy vaandy
DB, T HyS0; 20508 86 810dd &, E08 t56) Jod, ¥ 090 230 w3000
B0\, X 0800 Y o TUPAC Frare SGRM

Options:

2,2, 2 — trichloro methyl propanol and P, P* — dichloro diphenyl trichloro methane
. 22,2— £56 36 Joors sobakn P, PL - 288 & 136 § §6 89

Methanol and 4 — chloro benzaldehyde
DTS 2ok 4 — EC Soardird

2. %
2,2, 2 — trichloro ethanol and P , P* — dichloro - dipheny! trichloro ethane
2,2,2— 0 §6 9036 2803w P, P! — &858 ~ G226 § 88 &3

3.¥
1,1,1 — trichloro methanol and P , P* — dichloro diphenyl trichloro ethane
1,1,1— 8 58 QaSe 2080in P, P — 588 — 2 0 B EF %385

4. %
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